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Question Number : 1 Question Id : 2752287471 Question Type : MCQ Option Shufflin

Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Arrange the given words in the sequence in which they occur in the dictionary.

1. Famous

2. Fanatical
3. Farmhouse
4. Fancy

5. Father
Options :

1. % 12435
2. % 32145

g : Yes Is Question Mandatory : No Option



3. % 31254
4. % 23415

Question Number : 1 Question Id : 2752287471 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
few T Xreal &1 39 o H A afRid 3 o 0 § 3 eI B N B

1. Famous

2. Fanatical
3. Farmhouse
4. Fancy

5. Father

Options :

1. ¥ 12435
2. % 32145
3. % 31254
4. % 23415

Question Number : 2 Question Id : 2752287472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series.

225, 256, 289, 334, 361
Options :
1. % 225
2.9 334
3. % 289
4. % 361

Question Number : 2 Question Id : 2752287472 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

fFrafaRad 9w sRad § 7Tad U J1d By |

225,256, 289, 334, 361
Options :
1. % 225
2.9 334
3. % 289
4. % 361

Question Number : 3 Question Id : 2752287473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :

1. ¥ Zakir Hussain

2. # Jawaharlal Nehru

3. % Narendra Modi

4. % Atal Bihari Vajpayee

Question Number : 3 Question Id : 2752287473 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ MR g

2. % TATERAd 8%

3. % T Gl

4. % 3fcd fagRT gt

Question Number : 4 Question Id : 2752287474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Out of the given options, three are similar in a certain manner. However, one option is NOT like the other three. Select the option which is
different from the rest.

Options :
1. * FGH : HIJ
2. % RTS : HST

3. % STU: UVW
4. % DEF : FGH

Question Number : 4 Question Id : 2752287474 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. # FGH : HIJ
2. ¥ RTS : HST

3. % STU: UVW
4. % DEF : FGH

Question Number : 5 Question Id : 2752287475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Quadrilateral : 4 :: Hexagon : ?
Options :

1.%9

2. %38

3.% 4

4.9 6



Question Number : 5 Question Id : 2752287475 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. %9

2.% 8

3.% 4

4. ¥ 6

Question Number : 6 Question Id : 2752287476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

Aeroplane : Pilot :: Ship : ?
Options :

1. ¥ Sailor

2. % Watchman

3. #* Driver

4. % Officer

Question Number : 6 Question Id : 2752287476 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Sdlsr\rlsl\rl UdC ol : ?
Options :

1. ¢ lfdh

2. % YIPIGR




3. % g[d
4. % YR

Question Number : 7 Question Id : 2752287477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a certain code if '759' means 'mango is king', '287' means 'king never dies', and '418' means 'No one dies', then what will be the code of 'never'?
Options :

1. %6

2.% 7

3.% 8

4.9 2

Question Number : 7 Question Id : 2752287477 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%Tnﬁf\% P ATl 759 BT 3f § 'mango is king', 287" I 3 g 'king never dies', 3R '418 T 31 8 No one dies', Al ‘never' &1 HIS &1
o

Options :

1. %6

2. % 17

3.% 8

4.2

Question Number : 8 Question Id : 2752287478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If 'room' is called 'house', 'house' is called 'bed', 'bed' is called 'window', and 'window' is called 'door’, then on what would a person sleep?
Options :

1. % Bed

2. ¥ Window

3. * Door



4. % House

Question Number : 8 Question Id : 2752287478 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % faeR

2. ¢ fagat

3. % gR

4. % HPlq

Question Number : 9 Question Id : 2752287479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sanjana walked 70 m towards North. Then she took a right turn and walked 50 m. She again took a right turn and walked 70 m. How far and in
which direction is she from the starting point?

Options :

1. # 20 m south
2. % 50 m east
3. % 20 m north

4. % 50 m west

Question Number : 9 Question Id : 2752287479 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % 20 m GIafOT

2.9 50mqd



3. % 20 m I
4. % 50 m UTYH

Question Number : 10 Question Id : 2752287480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
A Bank XYZ has got opening for the position of a clerk. The candidate must

1. Be a postgraduate with at least 75 per cent marks.

2. Must have scored above 75% in graduation.

3. Must have experience of at least 5 years as an accountant in any of the banks.
4. Must not be more than 50 years of age as on 20/05/21.

The following exceptions apply:

A. If a candidate meets all other criteria except 3 above, but has experience of at least 2 years as a clerk in any other bank, he will be referred to
the General Manager of the Bank.

B. A candidate who has got less than 75% marks in graduation will be referred to the assistant manager.

Subham has completed his MBA in Finance and has scored 85% marks. He also scored 80% marks in his graduation. He has been working as a
clerk in ABC bank for the past 3 years and he was born on 10 June 1990.
What decision should be taken about Subham?

Options :

1. ¥ Must be referred to the General manager.
2. % Must be referred to the Assistant manager.
3. ¥ Must be selected.

4. ¥ Must be rejected.

Question Number : 10 Question Id : 2752287480 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ HgTIsYD DI Hehid fan s anfgu)

2. % gD UeUD DI Yaldd fovar ST A1gu|

3. % IO fobd ST AR

4. % Jiphd fod ST =TT

Question Number : 11 Question Id : 2752287481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
In the question given below, there are two statements marked as Assertion (A) and Reason (R). Mark your answer as per the codes in options.

Assertion (A): When lightning strikes, the flash is seen a little after the sound is heard.
Reason (R): Velocity of light is more than the velocity of sound.

Options :

1. # Both A and R are true and R is the correct explanation of A.

2. % Both A and R are true but R is not the correct explanation of A.
3. % As true but R is false.

4. ¥ A is false but R is true.

Question Number : 11 Question Id : 2752287481 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

. % A SRR IIE 3R R, A P! Ja! AT 5|

2. % A RRGHIII g AfbA R, A D Jet AR Ta! g
3. % A g AfPAR TT B

4. A I § AP R I B

Question Number : 12 Question Id : 2752287482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the question, a statement is given, followed by two conclusions, I and II. You have to consider the statement to be true even if it seems to be at
variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statement.

Statement: The best evidence of India's glorious past is the increase in the popularity of Ayurveda in western countries.

Conclusion I: Ayurveda is not so popular in India.
Conclusion II: Now a days people of India prefer allopathic medicines.

Options :

1. * Only I follows

2. * Only II follows

3. % Both I and II follows
4. ¥ Neither I nor II follows

Question Number : 12 Question Id : 2752287482 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % $Had | IR0 HRAT §

2. % Had I 3IERU BT §

3. % [ 3R I1 G AR o’ §

4. T 13RSI ST BT §

Question Number : 13 Question Id : 2752287483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Find the wrong term in the following number series.

556,278, 139, 69.5, 34.5, 17.375
Options :

1. % 139

2. % 278

3.9 345

4, % 17.375

Question Number : 13 Question Id : 2752287483 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad 93T $Rael | Tad Ug J1d By |

556,278, 139, 69.5, 34.5, 17.375
Options :

1. % 139

2. % 278

3.¥345

4. % 17.375




Question Number : 14 Question Id : 2752287484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the option that is related to the third term on the same basis as the second term is related to the first term.

55:3080::39:7?
Options :
1. # 2130
2. % 1560
3. % 1380
4. % 2489

Question Number : 14 Question Id : 2752287484 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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55:3080::39:7
Options :
1. % 2130
2. ¥ 1560
3. % 1380
4. % 2489

Question Number : 15 Question Id : 2752287485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following Venn diagrams best represents the relationship among Botany, Biology and Science?
Options :



Question Number : 15 Question Id : 2752287485 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 16 Question Id : 2752287486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following represents Teachers who are cricketers but not philosophers?



Options :
1. * N
2.¥R
3.%Q
4. % S

Question Number : 16 Question Id : 2752287486 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1. ®* N
2. ¥R
3.%Q



4. % S

Question Number : 17 Question Id : 2752287487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Choose a pair similar to the pair in the question figure.

Options :

3.¢



Question Number : 17 Question Id : 2752287487 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



3. ¢

Question Number : 18 Question Id : 2752287488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In the given question, there are seven figures, the first and last of which are unnumbered and the remaining are numbered as 1,2,3,4 and 5. These
seven figures form a series. However, one of the five numbered figure does not fit into the series. The number of that figure is the answer.

Options :
1.¥ 4
2. % 1
3.%3
4. %5

Question Number : 18 Question Id : 2752287488 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
1.¥ 4
2.% 1
3.%3
4. % 5

Question Number : 19 Question Id : 2752287489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
From the given answer figures, select the one in which the question figure is embedded?

Options :



2.¥

Question Number : 19 Question Id : 2752287489 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



Question Number : 20 Question Id : 2752287490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following figures cannot be formed on folding the given cube in the question?



Options :

1.¢¥



Question Number : 20 Question Id : 2752287490 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :



General Awareness
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Group Id : 275228271
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Edit Attended Group? : No
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Group Marks : 20
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General Awareness

Section Id : 275228398
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Question Number : 21 Question Id : 2752287491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Apatani Tribe is indigenous to which of the following northeast states?
Options :

1. # Assam

2. % Arunachal Pradesh

3. # Tripura

4. % Nagaland

Question Number : 21 Question Id : 2752287491 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3T STl Frafeied # @ fod qaiR I 1 oet a2
Options :

1. % 3H

2. ¥ UM U=

3. % B

4. % 9GS

Question Number : 22 Question Id : 2752287492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Nokrek National Park is located in which of the following states?
Options :

1. % Manipur

2. # Sikkim

3. ¥ Meghalaya

4, % Mizoram

Question Number : 22 Question Id : 2752287492 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

Y P I Fafafed & ¥ iy v # Rua 82
Options :

1. ® HOQR

2. % fYfdpH

3. ¢ HuTeiy

4. % iRy

Question Number : 23 Question Id : 2752287493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

India does not have a functional Free Trade Agreement (FTA) or Comprehensive Economic Partnership (CEPA) with which of the following
nations?

Options :

1. # South Korea
2. % Japan

3. % Canada

4. * Chile

Question Number : 23 Question Id : 2752287493 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafefad o T frg 32 & WY YR &1 Sraierss Jad IR I a1 s e yrfier 76t 22
Options :

1. % Sfeor e

2. % NI

3. ¥ PpAlST

4. % forcit

Question Number : 24 Question Id : 2752287494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

In which year did the Reserve Bank of India (RBI) become a part of the Bank of International Settlements (BIS)?
Options :

1. % 2013

2. % 2016

3. % 2018

4. % 2020

Question Number : 24 Question Id : 2752287494 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR Rord 9 e T & § 3 Sex=md Yeaticd &I fgwar &4 T
Options :

1. ¥ 2013

2. % 2016

3. % 2018

4. % 2020

Question Number : 25 Question Id : 2752287495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acids causes eyes to tear up while cutting onions?
Options :

1. % Sulfuric acid

2. % Acetic acid

3. * Nitric acid

4. % Phosphoric acid

Question Number : 25 Question Id : 2752287495 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ TRDT

2. % TR 3
3. % A1Efddh 3T
4. % BRBING 3T

Question Number : 26 Question Id : 2752287496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following acids is widely used in rural India to prevent snake infestation?
Options :

1. % Glycolic acid

2. # Gluconic acid

3. ¥ Carbolic acid

4. % Acetic acid

Question Number : 26 Question Id : 2752287496 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ol & & o 91 st Ao YRd B FiUl & HehH01 B b & (o S U Y JuAIT fasaT STl g2
Options :

1. % TeIghIlcioh e

2. ¥ TIDIHDB 3

3. ¥ BIEicidh 3T

4. % URfeD 3t

Question Number : 27 Question Id : 2752287497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Which of the following states is the highest producer of sugarcane in the country?
Options :



1. # Punjab

2. # Karnataka

3. % Uttar Pradesh
4. ¥ Maharashtra

Question Number : 27 Question Id : 2752287497 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % U9

2. % HAlcH
3. ¢ FWRUCH
4. % HERTY

Question Number : 28 Question Id : 2752287498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following is considered as the tallest waterfall of India as it falls through a height of 1840 ft?
Options :

1. % Meenmutty Falls

2. % Dudhsagar Falls

3. % Kynrem Falls

4. ¥ Bhambavli Vajrai Falls

Question Number : 28 Question Id : 2752287498 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. % W Savurd




2. #® QYR SIdUUId
3. % PHIgIH TAUUTd
4.« HTFEAd! JoRTS STAYUTd

Question Number : 29 Question Id : 2752287499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which of the following kings was overthrown by Dantidurga, effectively ending the rule of the Chalukya dynasty?
Options :

1. ¥ Kirtivarman II

2. ® Vikramaditya I

3. % Pulakesin II

4. % Mangalesha

Question Number : 29 Question Id : 2752287499 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :

1. ¢ Difqae 11

2. % fasbAIcd 1

3. % QAGRM I
4. % TIQR

Question Number : 30 Question Id : 2752287500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The book Muntakhab-ut-Tawarikh is a history of the Islamic reign in India, written by:
Options :

1. % Ziauddin Barani

2. % Abdul Qadir Badayuni



3. # Abul Fazl
4. % Amir Khusro

Question Number : 30 Question Id : 2752287500 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HEd-3d-daRIE Jxdh HRd H ST [ $T 308H &, S FH & gR1 ford! 718 &

Options :

1. % [SASEH st

Question Number : 31 Question Id : 2752287501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Airavatesvara Temple was built under the reign of which dynasty?
Options :

1. ¥ Chola Dynasty

2. % Pallava Dynasty

3. # Rashtrakuta Dynasty

4. # Chera Dynasty

Question Number : 31 Question Id : 2752287501 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
WA TR fobd ISR & ARSI T §H1-1 47 UT?
Options :

1. ¢ e S

2. % Ueeid ISax

3. % YIRS W




4. % R IEY

Question Number : 32 Question Id : 2752287502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Birbal Sahni was known for his scientific research as a/an:
Options :

1. # Chemist

2. # Astro-physicist

3. % Statistician

4. % Palaeobotanist

Question Number : 32 Question Id : 2752287502 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR e 3T 91D YT & e g =0 & o7 9 2
Options :

1. % IS

2. % WA-Hifadiag

3. % gigsliidg

4. ¢ RIEWIT (T3NeICHE)

Question Number : 33 Question Id : 2752287503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ibis Trilogy is the work of which of the following authors?
Options :

1. ¥ Amitava Ghosh

2. # Vikram Seth

3. # Aravind Adiga

4. % Amish Tripathi



Question Number : 33 Question Id : 2752287503 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3mefey fearel Fafead § @ foa aas &1 $id g2
Options :

1. ¢ SfEAY Uy

2. % fapH S

3. % 3R 3fen

4. % 3y FAUISt

Question Number : 34 Question Id : 2752287504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently, the Indian Navy received two MH-60 Romeo helicopters from which country?
Options :

1. ¥ United States of America

2. % Russia

3. % United Kingdom

4. # Australia

Question Number : 34 Question Id : 2752287504 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1A 8 &, YR T8 1 o 3= F & MH-60 AR FeftapToR frd 82
Options :

1. ¢ o Iy SR

2. % Y

3. % gARcS fhiren

4. % Sffern

~



Question Number : 35 Question Id : 2752287505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Recently, the Gandhinagar Capital Railway Station in Gujarat was virtually inaugurated by which of the following politicians?
Options :

1. # Amit Shah

2. % Arvind Kejriwal

3. # Vijay R. Rupani

4. ¥ Narendra Modi

Question Number : 35 Question Id : 2752287505 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

BT 81 H, ToRTd § MR Ffted Yoid WM &1 a¥da: 74 § Igure- foq Ieidr 3 fasar um
Options :

1. % g xmg

2. % 3Rfdg HoRiard

3. % ooy 3R, =qruf)

4. ¢ 5 Ae

Question Number : 36 Question Id : 2752287506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Ministry of Finance, on the 15th of July, released 75000 crores to the States and Union Territories to:
Options :

1. # implement for the fight against COVID-19.

2. ¥ compensate them for the shortfall of revenues due to GST implementation.

3. % help Panchayati Raj institutions evolve as units of self governance by assigning funds to them.

4. % provide boosts to the State Disaster Relief Funds (SDRF).

Question Number : 36 Question Id : 2752287506 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ford T 7, 15 T B IS 3R g MR TSR BT 77 & 7T 75000 FIS TUT SR fHT:
Options :

1. % PIAS-19 P RIATH TST5 & [T ARL AT

2.« GST AR BF ¥ [oTed H 315 HH & [T 35 G3MTaol T

3. % T o SRAT3M BT Py Tafed B W B 3h13dl & &4 H [aHRid g4 § Hag HeAT|
4. % oY 3MTUYST (8] PV (SDRF) Bl FGIAT Tl

Question Number : 37 Question Id : 2752287507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The powers of the Parliaments to amend the Constitution is enshrined in Part of the Constitution.
Options :

1. ¥ XIX (nineteen)

2. ¥ XX (twenty)

3. # XXI (twenty-one)

4. ® XXII (twenty-two)

Question Number : 37 Question Id : 2752287507 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT H N B 1 TG B Il WAL &b 41T A fAfga g
Options :

1. % XIX (3319)

2. ¥ XX (d19)

3. % XXI (3FHN)

4. % XXII (S139)

Question Number : 38 Question Id : 2752287508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



The provision of having a common High Court for two or more States was introduced by the:
Options :

1. #* Tenth Amendment Act, 1961

2. % Second Amendment Act, 1952

3. ¥ Seventh Amendment Act, 1956

4. # Thirteenth Amendment Act, 1962

Question Number : 38 Question Id : 2752287508 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A1 Y 3P IoTl o e I I I1aTed 8- &1 UrauT™ fodds gIRT U1 foha 71T o
Options :

1. % ggai 9Ny HfAHTH, 1961

2. % GIRT RN AT, 1952

3.  Trqat G=neE SifAfTH, 1956

4. % qgal gRNY= fAFEH, 1962

Question Number : 39 Question Id : 2752287509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Milkha Singh won the gold medal at the 1958 Commonwealth Games for which of the following events?
Options :

1. % 100 metres

2. % 110 metre hurdles

3. ¥ 400 metres

4. % 800 metres

Question Number : 39 Question Id : 2752287509 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
ferera Rig 3 1958 & AyHed Wal | Fafeiad 7 3 foea gfaaiiirar # 9ol uae St ur

Options :



1. % 100 Hiex
2. % 110 HeR U ErS
3. ¢ 400 HIR
4. % 800 Hicx

Question Number : 40 Question Id : 2752287510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Krishna Poonia is associated with which of the following athletic events?
Options :

1. % Long Jump

2. ¥ Discus Throw

3. % Javelin Throw

4. % Pole Vault

Question Number : 40 Question Id : 2752287510 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

$un gfar Faferfed § ¥ foa wyafes wuf 3 9t 82

Options :
1. % TS
2. ¢ f&wma Ul
3. % Safer Ul
4. % Uid dlec
Arithmetic Ability
Group Number : 3
Group Id : 275228272
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No
Break time : 0

Group Marks : 20
Is this Group for Examiner? : No

Arithmetic Ability

Section Id : 275228399
Section Number : 1

Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
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Sub-Section Id : 275228473
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 2752287511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which is the largest six-digit number, which when divided by 15, 18, 20, 27, and 30, leaves 9, 12, 14, 21, and 24, respectively?
Options :

1. ¥ 999534

2. % 999667

3. % 999984

4. % 999764

Question Number : 41 Question Id : 2752287511 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TE-3IPIT I ISt T-AT I T &, TS 15, 18, 20, 27 3R 30 F FIHITT B WHHE: 9, 12, 14, 21 3R 24 TSt 82
Options :

1. ¥ 999534

2. % 999667

3. % 999984

4. % 999764

Question Number : 42 Question Id : 2752287512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The HCF and LCM of the two number is 40 and 840 respectively. If one of the numbers is 280 then, the other number is.
Options :

1. % 136

2. % 480

3. % 272

4.+ 120

Question Number : 42 Question Id : 2752287512 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

& s &1 HedH JHIdd® SR TYTH JHIGAS HHRT: 40 3R 840 71 IS TRemafi & 9 U 280 &, A gl G 7 |
Options :

1. % 136

2. % 480

3. %272

4.¥ 120

Question Number : 43 Question Id : 2752287513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A family of five people has average age equal to 50 years in 2010. In 2015 the eldest person in the family died and at the same time a new baby
was born. Later, in 2019 the average age of family is 45 years. What would have been the age of the eldest person of the family in 2019, had he



been alive?
Options :

1. ® 72 years
2. % 75 years
3. % 68 years
4. ¥ 74 years

Question Number : 43 Question Id : 2752287513 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Oia AT & URAR B 3d Mg a8 2010 H 50 99 & SRIER 1 2015 H, TRAR & T4 §3 Al b1 G 81 718 3R I TG TH -4 g1 Pl
S B3I a1 &, 2019 W URAR @1 3iGd 317 45 a8 g1 2019 T URaR &1 Ja9 g1 aafad afe Shifad giar, a SUe! 3y o1 38! giait?
Options :

1. % 7299

2. % 7599

3. % 689

4. 7499

Question Number : 44 Question Id : 2752287514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

In a particular school, the maximum marks in Mathematics was 300. Ram obtained 72% marks, what were his actual marks?
Options :

1. % 206

2. % 226

3.¥ 216

4. % 72

Question Number : 44 Question Id : 2752287514 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
U faRIy faemera |, 7ot H Sif¥ead 31 300 U1 TH A 72% 3idh U fhU, b aRdidd 3id a7 U2




Options :
1. % 206
2. % 226
3.¥ 216
4. % 72

Question Number : 45 Question Id : 2752287515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

An alloy of zinc, magnesium, and copper contains 80% of copper, 15% of zinc, and 5% of magnesium. The second alloy of copper and
magnesium only is melted with the first and the mixture contains 75% of copper, 5% of zinc and 20% of magnesium. What is the percentage of
magnesium in the second alloy?

Options :
1. % 25%
2. % 22.50%
3. % 30%
4. % 27.50%

Question Number : 45 Question Id : 2752287515 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR, TR SfR dfd & s & 80% <ITa, 15% ST 3R 5% HINREH g1 ¢ | e 3R HHREH & geR {1 & Had ugd & a1y
forerTra ST § SR fHrsror & 759 e, 5% ST 3iR 20% HERad giar g | gur fHsg & TRy o1 ufawd fadr g2

Options :

1. % 25%

2. % 22.50%

3. % 30%

4.9 27.50%

Question Number : 46 Question Id : 2752287516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Difference between marked price and the cost price is 50% of the selling price. If the discount percentage is 20%, then find the ratio between
marked price and cost price.

Options :
1.¥5:3
2.% 7:5
3.% 3:5
4. % 711

Question Number : 46 Question Id : 2752287516 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
%&fma\wsﬁ?mud e & S &1 SiaR [9shd Jod &1 50% g | TS Be Ufa=Id 20% g, d 3iford Yo SR AN Hed & &9 &1 3T I1d
|

Options :

1.¥5:3

2.% 7:5

3. % 3:5

4. % 7:11

Question Number : 47 Question Id : 2752287517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The Marked price of a dress is Rs. 2500. Trader gives two successive discounts of 15% and D% and sells it to Pratham. Pratham sells the same
dress at 20% profit to Anya. Anya paid Rs 2244 for the same dress. Find the value of D.

Options :
1. % 10
2.9 12
3. % 15
4. % 20

Question Number : 47 Question Id : 2752287517 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

TP TR h1 3{fohd Jed 2500 TTT g | ATIRT 15% 3R D% P &1 AP Fe odl § AR 3 TYH B oadl & | AW I RIS BT 31 B
20% TTH TR 9T 8 | 3T 3 ST U1 & oY 2244 $UT ST YA faa1| D &1 HF I1d HR |

Options :

1. % 10

2. 12

3. % 15

4. % 20

Question Number : 48 Question Id : 2752287518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The ratio of the sides of a quadrilateral is 3 : 4 : 6 : 8. If the perimeter of the quadrilateral is 84cm. Find the longest side of the quadrilateral.
Options :

1. * 36 cm

2.% 32 cm

3. % 30 cm

4. % 28 cm

Question Number : 48 Question Id : 2752287518 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TP IGHS Bt Y131 BT SUT 3 : 4 : 6 : 8 §1 TS IJUS BT IRAM 84 em B | TTHS BT T it Yol 1 PR |
Options :

1. # 36 cm

2.¥ 32 cm

3. % 30cm

4. % 28 cm

Question Number : 49 Question Id : 2752287519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



A, B and C started a business. A and B invested in the ratio of 3 : 7 and C invested Rs. 8,000, the same amount as the difference between the
investment of A and B. What is the amount invested by B?

Options :

1. % Rs. 10000
2. % Rs. 6000
3. # Rs. 12000
4. ¥ Rs. 14000

Question Number : 49 Question Id : 2752287519 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A, B 3R C A T%h I L= HAT| A IR B 3 : 7 % U & a1 {21 3R ¢ 7 8,000 $UT Fa=1 fHT, ST A SIRB & A » da &
3R & THM IR § | B R Fa=1 &1 118 M 1 82

Options :

1. % 10000 ¥UY

2. % 6000 3T

3. % 12000 ¥UT

4. ¥ 14000 ¥UY

Question Number : 50 Question Id : 2752287520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Shyam wants to deposit Rs. 5000 for three years. The compound interest rate received for these years would be 20%, 30% and 10% respectively
then find the amount he will received at the end.

Options :

1. % Rs. 8280
2. % Rs. 8580
3. % Rs. 8800
4. % Rs. 8480

Question Number : 50 Question Id : 2752287520 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A o a9 & AT 5000 ST STHT BT A8 & | 3 81 o (o4 U Tehgie &TST & HHRT: 20%, 30% 3R 10% BHT, T 3id & 3 7
HEEINRURIRIGER]

Options :

1. % 8280%UU
2. % 8580 %UU
3. % 8800 ®UU
4, % 8480 >UU

Question Number : 51 Question Id : 2752287521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Find the principal, if an amount of Rs. 3249 is received on compound interest at the rate of 14% per annum for 2 years.
Options :

1. # Rs. 1500

2. % Rs. 1600

3. ¥ Rs. 2500

4. % Rs. 3000

Question Number : 51 Question Id : 2752287521 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A 10 B, A 2 98 & o ufaaef 14% o1 R Iehgfg STST TR 3249 ¥UT &1 AT U Sl B
Options :

1. % 1500 U

2. % 1600 U

3.9 2500 %4

4. % 3000 >UU

Question Number : 52 Question Id : 2752287522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

A train takes 2 minute to cross a stationary pole. How much time(in seconds) will it take to cross a platform whose length is thrice that of the
train?

Options :

1. % 360 seconds
2. ¥ 480 seconds
3. % 600 seconds
4. % 540 seconds

Question Number : 52 Question Id : 2752287522 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS YS! T fRR W™ &1 IR 3 § 2 e &1 970 ol 81 T Wiew™ &1 UR & § fohd1 97y Qs #) @, S derg
XS 4 A TR

Options :

1. % 360 Yhs

2. ¢ 480 Uh S

3. % 600 e

4. % 540 Yh s

Question Number : 53 Question Id : 2752287523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Two trains 160 m and 180 long pass each other in 15 seconds. If the length of 180 m long train is increased by fifty percent, find the time taken
by them to pass each other?(Approx)

Options :

1. # 15 seconds
2. ¥ 19 seconds
3. % 17 seconds
4. # 20 seconds

Question Number : 53 Question Id : 2752287523 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

160 m 3R 180 m el &1 YAMSTT 15 Vb T Th IR DI UR HRcl g | TS 180 m T XIS P dials A Uary UfA=Id &1 gig &1 ot g,
dl b GRT TP GO I UR HRA T T aTll U J7d D2 (ATH)

Options :

1. % 159%he

Question Number : 54 Question Id : 2752287524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sudhakar can finish a piece of work in 15 days and Bina can finish the 1/5th of the same work in 6 days. In how many days together they can
finish the 3/5th part of the total work?

Options :

1. ¥ 6 days
2. # 4 days
3. # 3 days
4. % 2 days

Question Number : 54 Question Id : 2752287524 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

JUTHR Th BT & 15 T 7 T R Tl § SR 1 ST B BT 1/5 UIT 6 &A1 H THIE B Tobal! g | 9 Th T A B BT 3/5 U
forae faf 7 qRT R Wbl 82

Options :

1. ¢ 6 fed

2. % 4fea

3. % 3f¢T

4. % 2faq




Question Number : 55 Question Id : 2752287525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

If five men and six women or four men and eight women can complete a piece of work, then what is the ratio of efficiency of one man and one
woman?

Options :
1.¥2:1
2.% 1:2
3.%3:2
4. % 2:3

Question Number : 55 Question Id : 2752287525 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%r%uﬁwaﬁ?ww%mmawweﬁ?%WWW@@TWW%&WWG%WW@EWW 3T

Options :
1.¥2:1
2.%1:2
3.%3:2
4. % 2:3

Question Number : 56 Question Id : 2752287526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A circle whose radius is 56 cm and The Rectangle whose length and breadth are in the ratio 7 : 22 respectively. The area of a circle is equal to the
area of a rectangle. Find the perimeter of the rectangle. (use n = 22/7)

Options :

1. % 232 cm
2. ¥ 464 cm
3. % 116 cm
4. % 348 cm



Question Number : 56 Question Id : 2752287526 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T I Forae! AT 56 em @ SR 1A o] daTg SR ATeTs HHRT: 7 : 22 % 3JUd H g | TP Id &1 &A% d U 31ad & &a%hd &
SRISR ¢ | 3ATId BT URHATT J1d DR (7= 22/7 BT YTRT HY)

Options :

1. % 232 cm

2. % 464 cm

3. % 116 cm

4. % 348 cm

Question Number : 57 Question Id : 2752287527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The difference between circumference and the diameter of a circular field is 60 m. Calculate the cost of covering the field at a rate of Rs. 500 per
square meter. (Use = 22/7)

Options :

1. % Rs. 508000
2. % Rs. 608000
3. ¥ Rs. 308000
4. % Rs. 408000

Question Number : 57 Question Id : 2752287527 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TH JAIHR A 1 aRf 3R o & o9 &1 3faR 60 m § 1 500 TAT Ufd T Hiex B &R WM Bl HaR HRA DI AN DI T B (1 =
22/7 &1 YN HY)

Options :

1. # 508000 >UY
2. % 608000 24T
3. 308000 >UU




4. % 408000 ¥4UUg

Question Number : 58 Question Id : 2752287528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The table given below shows number of Teachers in various Universities -Males and Females and percentage of PhDs amongst them.
What is the average number of male teachers in all the Universities together?

Males Females
Universities
Number of | Percentage of | MNumber of | Percentage of
teachers PhDs teachers PhDs
A 180 35 150 L0
B 250 75 120 40
C 200 a5 125 o0
D 350 70 80 80
E 300 30 100 40
Options :
1. # 156
2. % 186
3. % 226
4. ¥ 256

Question Number : 58 Question Id : 2752287528 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3 <t 18 arferet fafia fayfaenet & Riee! &1 e &1 il § - I3 SR Afgan 3R 39 PhDs &1 Wfa=rd |
Tt fasyfaeeral & fiyares qo et o Siid e faa 82



gyl afgarait
fag et ot Rrgret ot
- PhD FT Ufa=a - PhD T Ufa=Te|
a3 EaLEd)

A 180 35 150 50
B 250 15 120 40
c 200 45 125 60
D 350 70 80 80
E 300 30 100 40

Options :

1. % 156

2. % 186

3. % 226

4. ¥ 256

Question Number : 59 Question Id : 2752287529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following line graph shows the total income of a family for two consecutive years.
By what percent total income for 2018 is increased as compare to year 2017 income?
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Options :

1. % 8.88%

2. % 4.50%

3.9 7.69%

4. % 10.40%

Question Number : 59 Question Id : 2752287529 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
fRfoRad a1 9T @R &l aui & fore Uer uRaR &1 $d o1 &1 g=iar g |
as 2017 BT T B a1 H 2018 P 1T Fot S F fra- Ufa=d 131G 68 82
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Options :

1. % 8.88%
2. % 450%
3.9 7.69%
4. % 10.40%

Question Number : 60 Question Id : 2752287530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The following bar graph shows the percentage of spending by a man on various items in a particular year.
If the total amount spent by the man during the year was Rs. 60000, then how much did he spend on medicine and transportation?
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Options :
1. ®# Rs. 12200
2. % Rs. 12400
3. % Rs. 12600
4. % Rs. 12800

Question Number : 60 Question Id : 2752287530 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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1. % 12200 ®UUT
2. % 12400 %UU
3. % 12600 ®UUY
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Question Number : 61 Question Id : 2752287531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As the disease progresses,/ babies fontanels, or soft/ spots, may begin to bulge.
Options :

1. # As the disease progresses,

2. ¥ babies fontanels, or soft

3. #* spots, may begin to bulge.

4. # No Error

Question Number : 61 Question Id : 2752287531 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

As the disease progresses,/ babies fontanels, or soft/ spots, may begin to bulge.
Options :



1. # As the disease progresses,
2. ¥ babies fontanels, or soft
3. ¥ spots, may begin to bulge.
4. % No Error

Question Number : 62 Question Id : 2752287532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Billy the Kid was one/ of the most famous outlaw/ of America's early history.
Options :

1. % Billy the Kid was one

2. ¥ of the most famous outlaw

3. % of America's early history.

4. ¥ No Error

Question Number : 62 Question Id : 2752287532 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The sentence below has been divided into three parts. Select the part of the sentence that has an error. If the sentence has no error, select the
option 'No Error'.

Billy the Kid was one/ of the most famous outlaw/ of America's early history.
Options :

1. # Billy the Kid was one

2. ¥ of the most famous outlaw

3. % of America's early history.

4. % No Error

Question Number : 63 Question Id : 2752287533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We will have (to dispose the mice in the attic).
Options :

1. ¥ to dispose of the mice in the attic

2. # to dispose off the mice in the attic

3. % to dispose off the mice in attic

4. # No correction required

Question Number : 63 Question Id : 2752287533 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

We will have (to dispose the mice in the attic).
Options :

1. ¥ to dispose of the mice in the attic

2. # to dispose off the mice in the attic

3. # to dispose off the mice in attic

4. # No correction required

Question Number : 64 Question Id : 2752287534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Philippines and Thailand are military allies) of the U.S. in Southeast Asia.
Options :

1. # The Philippines and the Thailand are military allies

2. ¥ The Philippines and Thailand are military allies



3. % Philippines and the Thailand are military allies

4. # No correction required

Question Number : 64 Question Id : 2752287534 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Select the word segment that substitutes (replaces) the bracketed word segment correctly and completes the sentence meaningfully. Select the
option 'no correction required' if the sentence is correct as given.

(Philippines and Thailand are military allies) of the U.S. in Southeast Asia.
Options :

1. ®¥ The Philippines and the Thailand are military allies

2. % The Philippines and Thailand are military allies

3. # Philippines and the Thailand are military allies

4. # No correction required

Question Number : 65 Question Id : 2752287535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

I believe that orthodoxy of any kind is to art, and that is why the writer must be free.
Options :

1. ¥ inimical

2. % alchemical

3. # epitomical

4. # polemical

Question Number : 65 Question Id : 2752287535 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice



I believe that orthodoxy of any kind is to art, and that is why the writer must be free.
Options :

1. % inimical

2. # alchemical

3. % epitomical

4. % polemical

Question Number : 66 Question Id : 2752287536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is a record only the most churlish, or those with almost impossibly high expectations, could deem anything less than

Options :

1. # prefeudal
2. ¥ laudable
3. # precaudal
4. # feudal

Question Number : 66 Question Id : 2752287536 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank with the most appropriate choice

It is a record only the most churlish, or those with almost impossibly high expectations, could deem anything less than

Options :

1. # prefeudal
2. % laudable
3. % precaudal
4. # feudal

Question Number : 67 Question Id : 2752287537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

His bizarre word

P. makes even his

Q. most banal utterances

R. rhythm and gleeful

S. disregard for punctuation

sound dramatic.
Options :

1. # RPSQ

2. % RQSP

3. % RQPS

4. ¥ RSPQ

Question Number : 67 Question Id : 2752287537 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Some parts of a sentence have been jumbled up, and labelled P, Q, R and S. Select the option that gives the correct sequence in which these parts
can be rearranged to form a meaningful and grammatically correct sentence.

His bizarre word

P. makes even his

Q. most banal utterances

R. rhythm and gleeful

S. disregard for punctuation

sound dramatic.



Options :

1. % RPSQ
2. % RQSP
3. % RQPS
4. ¥ RSPQ

Question Number : 68 Question Id : 2752287538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

synthesize
Options :

1. #* incorporate
2. % arrange

3. # amalgamate

4. ¥ separate

Question Number : 68 Question Id : 2752287538 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is opposite in meaning (ANTONYM) to the word given below.

synthesize
Options :

1. * incorporate
2. % arrange

3. % amalgamate

4. ¥ separate

Question Number : 69 Question Id : 2752287539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Select the word that is similar in meaning (SYNONYM) to the word given below.

sycophant
Options :
1. # confident
2. ¥ adulator
3. ¥ obeisant

4. % aggravate

Question Number : 69 Question Id : 2752287539 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the word that is similar in meaning (SYNONYM) to the word given below.

sycophant
Options :
1. # confident
2. ¥ adulator
3. # obeisant

4. ® aggravate

Question Number : 70 Question Id : 2752287540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. ¥ placate

2. % plecate

3. % plecete

4. % placete

Question Number : 70 Question Id : 2752287540 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt correctly. Choose the correctly spelt word.
Options :

1. % placate

2. ® plecate

3. #® plecete

4. ® placete

Question Number : 71 Question Id : 2752287541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. # connoisseur

2. % condone

3. % irresoloute

4, % contrite

Question Number : 71 Question Id : 2752287541 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Four words are given, out of which only one word is spelt incorrectly. Choose the incorrectly spelt word.
Options :

1. * connoisseur

2. % condone

3. ¥ irresoloute

4. % contrite

Question Number : 72 Question Id : 2752287542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.



Don’t count your chickens before they hatch

Options :

1. #® Do something exactly right or say something exactly right
2. #® Living in luxury

3. % Don’t rely on it until you sure of it

4. ¥ When you already have it good and get something on top of what you already have

Question Number : 72 Question Id : 2752287542 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Don’t count your chickens before they hatch

Options :

1. ¥ Do something exactly right or say something exactly right
2. # Living in luxury

3. % Don’t rely on it until you sure of it

4. % When you already have it good and get something on top of what you already have

Question Number : 73 Question Id : 2752287543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Field day

Options :

1. # A secret policy for an evil purpose
2. % Raise controversy

3. ¥ Useless, without the desired result

4. ¥ An enjoyable day or circumstance

Question Number : 73 Question Id : 2752287543 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate meaning of the given idiom.

Field day

Options :

1. % A secret policy for an evil purpose
2. # Raise controversy

3. # Useless, without the desired result

4. ¥ An enjoyable day or circumstance

Question Number : 74 Question Id : 2752287544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Lasting for a very short time
Options :

1. # reminiscent

2. # fluorescent

3. % evanescent

4. # acquiescent

Question Number : 74 Question Id : 2752287544 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Lasting for a very short time
Options :

1. # reminiscent

2. % fluorescent

3. % evanescent



4. # acquiescent

Question Number : 75 Question Id : 2752287545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Release someone from a duty or obligation
Options :

1. # illustrate

2. % exaggerate

3. % deliberate

4. % exonerate

Question Number : 75 Question Id : 2752287545 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Select the most appropriate 'one word ' for the expressions given below.

Release someone from a duty or obligation
Options :

1. % illustrate

2. ® exaggerate

3. % deliberate

4. % exonerate

Sub-Section Number : 2
Sub-Section Id : 275228475
Question Shuffling Allowed : Yes

Question Id : 2752287546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the passage carefully and choose the best answer to each question out of the four alternatives.



Accustomed though we are to speaking of the films made before 1927 as "silent," the film has never been, in the full sense of the word, silent.
From the very beginning, music was regarded as an indispensable accompaniment; when the Lumiere films were shown at the first public film
exhibition in the Unites States in February 1896, they were accompanied by piano improvisations on popular tunes. At first, the music played
bore no special relationship to the films; an accompaniment of any kind was sufficient. Within a very short time, however, the incongruity of
playing lively music to a solemn film became apparent, and film pianists began to take some care in matching their pieces to the mood of the
film. As movie theatres grew in number and importance, a violinist, and perhaps a cellist, would be added to the pianist in certain cases, and in
the larger movie theatres small orchestras were formed.

For a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the orchestra, and
very often the principal qualification for holding such a position was not skill or taste so much as the ownership of a large personal library of
musical pieces. Since the conductor seldom saw the films until the night before they were to be shown (if, indeed, the conductor was lucky
enough to see them then), the musical arrangement was normally improvised in the greatest hurry. To help meet this difficulty, film distributing
companies started the practice of publishing suggestions for musical accompaniments. In 1909, for example, the Edison Company began issuing
with their films such indications of mood as "pleasant," "sad," "lively." The suggestions became more explicit, and so emerged the musical cue
sheet containing indications of mood, the titles of suitable pieces of music, and precise directions to show where one piece led into the next.
Certain films had music especially composed for them. The most famous of these early special scores was that composed and arranged for D.W.
Griffith's film Birth of a Nation, which was released in 1915.

Sub questions

Question Number : 76 Question Id : 2752287547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which film was the most famous in terms of especially composed scores?
Options :

1. % Birth of a nation

2. ®# Lumiere

3. % Regeneration

4. % The Cheat

Question Number : 77 Question Id : 2752287548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage what was apparently considered to be the qualifying skill of a conductor of an orchestra?
Options :

1. ¥ Good taste in Music

2. % Large personal library of music



3. # Musical knowledge and skill
4. # Understanding of films

Question Number : 78 Question Id : 2752287549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What were films made before 1927 regarded as?
Options :

1. ¥ Musical films

2. ® (Classic films

3. # Silent films

4. ¥ Modern films

Question Number : 79 Question Id : 2752287550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the first public film exhibition in the United States take place?
Options :

1. ¥ March 1927

2. ¥ February 1896

3. # April 1845

4. ® June 1864

Question Number : 80 Question Id : 2752287551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which of the following option is incorrect? Choose one option.

Options :

1. ¥ Conductors were prioritized to be shown the films before-hand so they could compose and practise meaningful music.
2. ® Even as early as the silent films era, music has always accompanied the films.

3. % For quite a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the
orchestra

4. % During the initial time the music played bore no special relationship to the films; an accompaniment of any kind was sufficient.



Question Id : 2752287546 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No

Question Numbers : (76 to 80)

Read the passage carefully and choose the best answer to each question out of the four alternatives.

Accustomed though we are to speaking of the films made before 1927 as "silent," the film has never been, in the full sense of the word, silent.
From the very beginning, music was regarded as an indispensable accompaniment; when the Lumiere films were shown at the first public film
exhibition in the Unites States in February 1896, they were accompanied by piano improvisations on popular tunes. At first, the music played
bore no special relationship to the films; an accompaniment of any kind was sufficient. Within a very short time, however, the incongruity of
playing lively music to a solemn film became apparent, and film pianists began to take some care in matching their pieces to the mood of the
film. As movie theatres grew in number and importance, a violinist, and perhaps a cellist, would be added to the pianist in certain cases, and in
the larger movie theatres small orchestras were formed.

For a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the orchestra, and
very often the principal qualification for holding such a position was not skill or taste so much as the ownership of a large personal library of
musical pieces. Since the conductor seldom saw the films until the night before they were to be shown (if, indeed, the conductor was lucky
enough to see them then), the musical arrangement was normally improvised in the greatest hurry. To help meet this difficulty, film distributing
companies started the practice of publishing suggestions for musical accompaniments. In 1909, for example, the Edison Company began issuing
with their films such indications of mood as "pleasant," "sad," "lively." The suggestions became more explicit, and so emerged the musical cue
sheet containing indications of mood, the titles of suitable pieces of music, and precise directions to show where one piece led into the next.
Certain films had music especially composed for them. The most famous of these early special scores was that composed and arranged for D.W.
Griffith's film Birth of a Nation, which was released in 1915.

Sub questions

Question Number : 76 Question Id : 2752287547 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

According to the passage, which film was the most famous in terms of especially composed scores?
Options :

1. ¥ Birth of a nation

2. * Lumiere

3. % Regeneration

4. % The Cheat

Question Number : 77 Question Id : 2752287548 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

According to the passage what was apparently considered to be the qualifying skill of a conductor of an orchestra?
Options :

1. # Good taste in Music

2. % Large personal library of music

3. % Musical knowledge and skill

4. % Understanding of films

Question Number : 78 Question Id : 2752287549 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

What were films made before 1927 regarded as?
Options :

1. # Musical films

2. # Classic films

3. % Silent films

4. % Modern films

Question Number : 79 Question Id : 2752287550 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When did the first public film exhibition in the United States take place?
Options :

1. # March 1927

2. % February 1896

3. % April 1845

4. % June 1864

Question Number : 80 Question Id : 2752287551 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
According to the passage, which of the following option is incorrect? Choose one option.
Options :



1. ¥ Conductors were prioritized to be shown the films before-hand so they could compose and practise meaningful music.
2. ® Even as early as the silent films era, music has always accompanied the films.

3. % For quite a number of years the selection of music for each film program rested entirely in the hands of the conductor or leader of the
orchestra

4. % During the initial time the music played bore no special relationship to the films; an accompaniment of any kind was sufficient.
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Question Number : 81 Question Id : 2752287552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy # IR fomeal 7 9 39 faweu o1 97 &8 o fou v IfY)-fawe wsg & Tg) |fY o1 faweu 81|

U + Udh
Options :

1. ¢ Thd
2. % THdh
3. % Thh
4, % TSI

Question Number : 81 Question Id : 2752287552 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFufeRad Uy # IR ol # 4,39 fawed &1 9897 &3 o fou U IiY-fowde Weg o Tg! IfY &1 fadwea gl

Uh + Udh
Options :

1. ¥ ThdH
2. % Thdp
3. % TDHIH
4. % TpHTp!

Question Number : 82 Question Id : 2752287553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofcRed Uy aR fadwedl # 4,39 f[dmed &1 997 33 ol AU U Ueg & Ta! IiY fadq &l [ddbed |
Apifaa

Options :

1. % TP + Hiad




2.« AP + 3fad
3. % i + 3ifad
4, % b + 3faa

Question Number : 82 Question Id : 2752287553 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy | aR [ddedl # 4,39 f[dwed &1 997 33 ol AU U Teg & Ta! 1Y fadq &l [ddbed 8l
Apifaa

Options :

1. % Qb + SHiad
2.« AP + fad
3. % ol + 3ifad
4. % TP + 3fifad

Question Number : 83 Question Id : 2752287554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafefad vy 7,9R fadwedl 5 8,39 fddhed &1 90 o Sl SUH ¥ 9 Weg b1 gl f[ddhed 31|
Options :

1. ¥ X3

2. % BIER

3. % fUgERl

4. % GIRA

Question Number : 83 Question Id : 2752287554 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFofefad uy & IR fowcal 7 9 39 fadeu &1 9g7 &3 o SuTf A o9 Weg &1 Tal fabeu 8|

Options :




1. ¢ ol
2. ® §HER
3. % [UER)
4. % gIRA

Question Number : 84 Question Id : 2752287555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ffead us 7, 9R fadedl 5 4,39 fdhed &1 90 o Sl U3 4 4 Yeg b1 gl fddbed 3|
Options :

1. % Jqrid

2. % G

3. % fgUR

4. QD

Question Number : 84 Question Id : 2752287555 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafifad Uy O aR fawedl & I 39 fdeed &1 99+ &3 ol Udg A a9 Teg &1 ol [dbed 8|
Options :

1. # YUid

2. % T

3. % faOR

4. RDH

Question Number : 85 Question Id : 2752287556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & IR fowrcal 7 9 39 fahcu o1 9g7 &% &t feu 71 areizn & oIt Ue Weg &1 Iet fdweu gl
for8 aroft saad 7 & I




Options :

1. % 3ffddspt
2. ¢ AT
3. % 3qUiH
4. % 3R

Question Number : 85 Question Id : 2752287556 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafaRad vy 7 IR ol § ¥, 39 faweu &1 99 &3 o ST 7T a1ier & ot U e o1 Tal fdswed gl |
S aTolt e 9 B I

Options :

1. % 3ffadept
2. ¢ ffAdeg
3. % 3@UHY
4. % 3R

Question Number : 86 Question Id : 2752287557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiad us o aR fadweul O 9,39 fdwed &1 79 &1 Sl faU 7T Wsg g &1 Tal 312 &1 ¥g! fadwed 5l
SIERSEl

Options :

1. % Ufa, o1

2. % g5 W&

3. % 91g gafl, difcien!
4.« g, eI

Question Number : 86 Question Id : 2752287557 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

frafeied us o aR fasweul O 9,39 fawed &1 7o &1 Sl faU 7 Wsg g &1 Tal 312 &1 et fadwed 5l
SIERSEl

Options :

1. % Ufa, o1

2. % g5 JH®

3. % 91g gafl, difcienl
4.« g, AIcIemT

Question Number : 87 Question Id : 2752287558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H,9R fawedl @ 1, 39 fddwed &1 99 & o1l Xeg & G U $T Jo! [dbed gl
Options :

1. ¢ 3ffdf

2. % 31

3. % 49Y

4. % HY

Question Number : 87 Question Id : 2752287558 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad Uy & aR fowedl & 9, 39 fdswed &1 99 &3 ol e & G ©U &1 g [dbed gl
Options :

1. ¢ 3y

2. % e

3. % 4dY

4. % HY

Question Number : 88 Question Id : 2752287559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafaRad vy H,9R fosmedl 3 9, 39 6! f[dded &1 98 & ol Rad RIM & [ IUgdd Xeq 1 g [dded gl |
Sl fodT s g B

Options :
1. # a0
2. % 3=
3. ¢ {ial
4, % gHMH

Question Number : 88 Question Id : 2752287559 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafRad Uy O aR fasedl & 4, 39 98! fddbed &1 99+ 3 Sl Rad I o o1t Iugad Wsg o1 Hal fdebed 7l
Sl fodT sresT TR B

Options :
1. % qHy0
2. % 3=l
3. ¢ {lal
4, % HHMH

Question Number : 89 Question Id : 2752287560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy & IR foweal # 9, 39 fadey &1 9g7 &3 S feT 7N 919 & &1d & Ne BT Tal fabe gl

BT, 37757 T 7Y §H Sfid S|
Options :

1. % Gy ydobral

2. ¢ JUTH Ufd=q




3. % =g 99 pId
4. % 3T YdbTd

Question Number : 89 Question Id : 2752287560 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofefad uy A IR fawel # 9, 39 fadey &1 9g7 &3 S feT 7N 919 & &1d & Ne 1 Tal fabey 81|

DI, 37757 T 7Y §H Sfid S|
Options :

1. % Gy ydobTal

2. ¢ U Ufd=q

3. % Y g9 HId

4. % 3T Ydb1d

Question Number : 90 Question Id : 2752287561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafcRad Uy |, IR fddeul 7 ¥, 39 fdwed &1 9949 &3 ol feT U 9190 & U& & Ue &1 Jo! [ddhed gl |
3§ YU g @ ]

Options :

1. % AP
2. ¢ IRHAdH
3. % JgRigas
4. % JEfAEde

Question Number : 90 Question Id : 2752287561 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fofifad uy §, IR fowedl 7 9, 39 faweu &1 9= &< St 3T 70 a1e & Ul & e &1 Ta! faweu gl




3§ YU g il g

Options :

1. % 3D
2. ¢ IRHAAH
3. % 3fgRIgda®
4. % JEIfAgde

Question Number : 91 Question Id : 2752287562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy o, aR fowedl & T, 39 fawed &1 999 &3 ol fAU 78 a9 & i & U &1 Je! fadwed gl |

3T SR 37y |
Options :

1. % SRS
2. ¢ IAD

3. % Jhadradm
4. % gERE®

Question Number : 91 Question Id : 2752287562 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafad uy 4, aR fawed! & 9, 39 fdeed &1 99 &3 Sl faT 78 a1y o gii & U &1 Ia! fddhed gl |
31U 3ER 31|

Options :

1. % SHIRED
2. v IS

3. % Hhddrad
4. % qERES



Question Number : 92 Question Id : 2752287563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fafeRRad vy 8, IR fasedl 4 9, 39 fdd ey &1 98+ H o 9g! far1 fag gad a1 o1 fadhed |
Options :

1. % 98 1 Ygdl &, 1 foradT 8, 1 a1 &xdl 5, I8 Jord & §@ X ol |

2. % g 1 Uadl &, 1 [orad &, 1 I1E HRdl ¢, I8 I i U8 8 o |

3. % 98 o1 Ugdl § oI foradl § &1 IT1e $Rdl §, I8 Yo o S I8 /17

4.+ 98 F1 Ugdl g, 1 foradT &, T I1E Bl 5, I8 T3 31 U 38 87

Question Number : 92 Question Id : 2752287563 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeRad Uy #, IR fased! ® 1, 39 fdched &1 99+ o3 ol Tg! faxH foIg god a1 o1 fdbed 11
Options :

1. % I8 1 Uedl 8, 341 forad 8, o1 TG Rl 8, T8 I3 R U@ @ 8l |

2. % g T UGl 8, I foradT &, 31 Te, el 8, I8 H3 1 U3 R &) |

3. % 98 371 Ugdl § o foradl & o1 916 Hdl §, I8 H3™ 71 S I8 812

4. I 1 Ugdl ¢, 1 fergaT 8, o1 31 &l €, U8 J o1 U9 3B 81

Question Number : 93 Question Id : 2752287564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fRufafad vy A, IR fAwedl § B, I fawey &1 T &3 oY fau 17U dieifad o1 Tat 31 arar fasey gl
Wt urct S 3R 9IS Bl &, 31U BT GrHTIR I1e aRd T 81 TT-

Options :

1. ¢ 3UAT HTH GG B

2. % 3T AN &I TeTadl B SRIS BRop U] DHIH W4 TS B
3. % g oAl @l X & 91y g1 fhr ot fed =81 gRel =g

4. % ot ot QIR R 370 S0 & T WRIT 0d R0




Question Number : 93 Question Id : 2752287564 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAufafad vy A, IR fawedl & 1, 39 fawey &1 T &3 oY fou 17U dieifad o1 Tat 31 arar faswey gl
Wt urclt S 3R 9IS Bl T, TR 1Y GRHTIID I18 aRd T 81 IT-

Options :

1. ¢ U BT W B

2. % 3 AN &I TeTadl B SRIS BRop U] DHIH WG4 TS B
3. % 918 Al @l - & 91y g1 fhr ot fewd a1 gRel =g

4. % oot ot G IR 304 ®1H o T WRIT qa &

Question Number : 94 Question Id : 2752287565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeied ve o, IR fadwenl O 9, 39 [dwed &1 78 &1 S faU 78 GgTer &1 Jat o1 aran fawed 81|
TR O HoaEg -

Options :

1. % g3 & drell 91d D1 g ol
2. % gfg &1 e g

3. ¢ fIpUe dER

4. % P GgRI FHTH W 3BT

Question Number : 94 Question Id : 2752287565 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafafaa oy & TR fawe # ¥, 39 fawed &1 7 &3 off U 7T erer o1 et o aran faswed 8|

TR WA BoTETEa-
Options :




1. % S T arcil d1d DI g AT
2. % §fG BT gl HHAT

3. ¢ fshUc aER

4. % D3 YERT FHe R 3/ms

Question Number : 95 Question Id : 2752287566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy 7, IR fAwedl & 1, I faewey &1 T &3 5 fou 17U dieifad o1 Tat 31 arar fawey gl
fomT 3w o A7 o g 7Y T

Options :

1. ¢ foa1 g fobu o ot =78 fireran

2. % S 9] HTH 3T ST dg! 3! |

3. % TR 9HY 4Red I Hedl gl

4. % 3MaRge g1 3T a¥ SIS I1 A e St 7, 99 T Fed g |

Question Number : 95 Question Id : 2752287566 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fufafad vy A, IR e & B, 39 fawey &1 T &3 &Y fau 17U Aieifad &1 gat 3 arar fase 8|
for Rt A7 o gor e ot

Options :

1. ¢ fom1 ga foru oo ot =1 fiyeral

2. % Sl a%] HTH 3 ST I8 33|

3. % WIS 999 R d 4 Hedl gl

4. % 3azges a1 Y I S AT SFTART i S 8, a7 U1 $gd

Sub-Section Number : 2
Sub-Section Id : 275228477
Question Shuffling Allowed : Yes



Question Id : 2752287567 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)

Y TR &1 AFYGD Ug 3R IR fadhed H ¥ UdH Uy &1 garad SR g |

STl TS ATe Bl @ - U1 ) et 751 | 1=t &b 33 SR H HebH UT| 19 1 g1 A Ueb Hl FUT AR b b fob=rd SR STl
YT | 3T W 3, 371 Ug1d U, IR T8 A1 YTl Th 1Y 31 Yeb1 o 1w 4 7 et U1 SfeT o7d I7bT Ut 3 Tob fa UehTUsh @18 )
BT D] HFT U Y, T I7bT off Th IR SR Y FIHTT 3R R 96 T I T G0 Wb Ued! - Bgl - " SRY A, 310 & H 3wy
gl A 3 Ui A HIT o 2" T8 o1 YA &) Arel A H g O @ (97 O 90T 3 9d Bl G R TS A

Sub questions

Question Number : 96 Question Id : 2752287568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TS AT U1 d TH7T Hgl g U2
Options :

1. % S W)

2. % GSA TR A

3. % IRIE W

4. ¥ SAD IR W

Question Number : 97 Question Id : 2752287569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

2TS T 3UT Al U 1Y 3G A & forw i 7 firerd A | STahT T 3= 89
Options :

1. % IgiH pH sd7 ¥UTA W Y|

2. % T8 I YT 3@ TR TT |

3. ¢ TP 1Y T8 I 3T 94 &1 7 fiad 3

4. % ggIhy dgd dof i

Question Number : 98 Question Id : 2752287570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
Ul = B0 foh g |t o T yHep! i
Options :

1. % geit g

2. % fuard

3. % 989

4.9 VS Y

Question Number : 99 Question Id : 2752287571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS T el doH Teg @ -

Options :

1. % dg

2.9 YIdl

3. % Hidl

4. % O

Question Number : 100 Question Id : 2752287572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FUY DI AT FAHR AT SSaTd D1 FT G g2
Options :

1. % fereeT ol

2. % QMAE

3. ¢ S AT T

4. % ffggimg

Question Id : 2752287567 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (96 to 100)



Y TR & MY Ue 3R IR fadhedl T 9 e Uy &1 garad SR g |

eTTell S el D1 WM - Ul 1 Bt g1 Y1 BRI &b 33 IR H HbTH Y| 1 B g1 4 Teh HY $UT HIRYb b bId [ IR el
YT | 3BT W &, 3BT USId 3, TR BT5 Al SUY 1 Tob 1Y 3@ Yept o forg +fi 7 foverd | SAfeT ST ITeb! Uell A Ueb faf TobTuap @15 Al
BUT D] HH U B, T I7b1 off Th IR SR Y FIGT1 3AR R 93 W1 371 U G0 GWhR Yedl A gl - " SR, 31U 1 H 3wy
g1, N H (U= YIS T [T ¢ 2" I8 91 gid &t aral T8 J g di & 19t ot 99 9 §d &1 e R Es )

Sub questions

Question Number : 96 Question Id : 2752287568 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AT TS AT U1 Hd THT gl g U2
Options :

1. % AW

2. % 3 IWR A

3. % ARG W

4. ¢ BADI R W

Question Number : 97 Question Id : 2752287569 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TS O ¥UU o) U O1Y 3@ Ap & forw o 1 e 31 3961 am 3= /2
Options :

1. # I8 HH a7 IUT T 37 |

2. % g3 II ¥UT 3@ R T |

3. ¢ U 1Y GTs U1 3UU &g+ &1 A fierd 31

4. % UgIDhH dgd goi Al

Question Number : 98 Question Id : 2752287570 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Uil = ¥UT foha /i o B Yrebl i

Options :



1. % gSIt Q
2. % Uy
3. % 91y
4. ¥ VB

Question Number : 99 Question Id : 2752287571 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT T e T TG § -

Options :

1. % dgd

2. % YIdl

3. % Hidl

4. % fuar

Question Number : 100 Question Id : 2752287572 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YT B YT YD ATl S AT B T G 532

Options :
1. % foree@ e
2. % TG
3. ¢ St GG T
4. % g g
Disciplinel
Group Number : 6
Group Id : 275228275
Group Maximum Duration : 0

Group Minimum Duration : 0



Show Attended Group? : No

Edit Attended Group? : No

Break time : 0

Group Marks : 20

Is this Group for Examiner? : No
Disciplinel

Section Id : 275228402

Section Number : 1

Section type : Online

Mandatory or Optional : Mandatory

Number of Questions : 20

Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1

Sub-Section Id : 275228478

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 2752287573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T id Foret FRIAr St ST &1 UHRH &1 € ¥ T8 HIashH Ugd-u|
Options :

1. % SERI-TIE DI Uhg-peil HIC-HeldD]

2. % 3[b]-Peil HIC-TET Dl Uh G-3RI

3. % I Bl Uohg-SCRI-3QABI-P el HIC

4. ¢ ERI-3{AD]-Peal UIE-AT Dl Uhg

Question Number : 101 Question Id : 2752287573 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

Thhid AUt FRar St SU=ATI &1 UHRE &t €D W el HIaHH ggan-d|
Options :

1. % JRRI-FAIC] DI Uha-FHeail Y-Sl

2. ¥ ADI-Hell HIE-ACT P UhS-3HRER]

3. % T P U 8- HRR-3(cIdb1-Peei HIT

4. ¥ IOR]-3ABI-P el HIe-dIct Bl Ihg

Question Number : 102 Question Id : 2752287574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 & § -1 ST YHaR YR ST BT 8l 82
Options :

1. % TR FUI BT G

2. % URYH d AU

3. ¥ I dgad

4. % XS T A4l GS]

Question Number : 102 Question Id : 2752287574 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T -7 ST YHdR YR S &7 781 82
Options :

1. % TJRE T BT G

2. ® URY G FHUA

3. ¥ IRF dgad

4. % IR P14l °IeT

Question Number : 103 Question Id : 2752287575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Y% RO B! &b XAl DI 62
Options :

1. % 9N UTe fgad

2. ¥ SORIHR TG

3. % S

4. % gUTA

Question Number : 103 Question Id : 2752287575 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TS ROl HEHT o A DI g2
Options :

1. % gOIRI UG fgadl

2. ¢ SORIHR TG

3. % S

4. % gRMUTA

Question Number : 104 Question Id : 2752287576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Sv UT, 3T faaTg & o &1 femor Ueie St A g 3 3 frg Sy & fear g2
Options :

1. % YATSH

2. ¢ T

3. % {YH

4. % UYMW

Question Number : 104 Question Id : 2752287576 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

geol UYT, 3 faarg & gy &1 femror Ureie ot 3 g o 9 fry Su=am & frar g2



Options :

1. % UHIH
2. ¢ faear
3. % {yH
4, % UYMW

Question Number : 105 Question Id : 2752287577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TR, T 3R gaf efdiRk YRt St & forg Iu=am & U /2
Options :

1. % Yol &1 Tdal grel

2. ¢ THTE! &1 &adl

3. % TRE YUl BT &R

4. % JRY g FHUA

Question Number : 105 Question Id : 2752287577 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e, T SR Tt iR YRl St 3 forey IU=m o U 62
Options :

1. ® IS P WIdal °Iel

2. ¢ T8I &1 &adl

3. % TYRE YUI BT o

4. % URY J GHUA

Question Number : 106 Question Id : 2752287578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SitareTd B =fY § Fufafld ArchaR) &1 I8t HH Id8u|

Options :



1. ¢ YIHR, HIg b, GI= IHI, HRIbId
2. % TG AbT, G5 a1, HRIDIA, IR
3. % YIAYR, Y5 a1, HRTBId, HigH Jb
4. % TRTBIA, Y4, HIg- b, &= aHi

Question Number : 106 Question Id : 2752287578 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

SiiaeTd &1 =8 I FEfaRed AeceeR] &1 98! i 9d1su|
Options :

1. ¢ YR, HIgd AH, I adi, HRID1d

2. % TG Ah, YI& g1, HRIHId, YA

3. % YR, Y5 aHl, ARIH (A, Higd Ah

4. ® TRIGIA, YaAHR, g AH T, J&& adl

Question Number : 107 Question Id : 2752287579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YT 3T STd IUARY IU=AT ! faw ag faferfead o @ feaes ary weifda g2
Options :

1. % B1Ril BT Sfagr

2. % fiyel-fie oufoRTdl Bt Byt

3. ¢ Udh IR U 38 §U IR b1 Uh Id &l Hgl

4. % grHTRoIeh faiTTiad o1 auH

Question Number : 107 Question Id : 2752287579 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AT G3HT oI ST JU-AT Bt fawdt g Fafaifad o 9 foras oy weaifid 82
Options :

1. % HRN P 38N




2. % - Afaqdl &1 HgrF
3. ¢ U WY T 382 §U AT &1 U X0l b1 gl
4. % g fagmfoal &1 auiq

Question Number : 108 Question Id : 2752287580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

FafRed # § SIF-91 B UFeic St & fawd # 951 61 82
Options :

1. % IQiA [ 3R 4TH® I &1 THwsil &I IRqd foba
2. % Ji- AP BT FH foba

3. % JHdG off 3 SUAN DI SH-Sfia- ¥ el

4. ¢ I AP AT UINT BT YIRT foban

Question Number : 108 Question Id : 2752287580 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFrafafed & 9 SIF-91 B2 Tuee of & fava & gt et 82
Options :

1. % I e iR 4fies ol ot grwafl oY URgd faan
2. % Igi- AT BT FHH foba

3. % YHdG off A SUARN &l SH-Siia- ¥ SHal

4. ¢ I GEHAHY HINT BT TaRT fobar

Question Number : 109 Question Id : 2752287581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

I &1 ATede St & W1 G o XArdl dIH g2
Options :

1. ® garadard THf

2. ® AT AR



3. % g
4. ¢ IR Bt

Question Number : 109 Question Id : 2752287581 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ot fa1 wrerdta St & A1y Qe & T=dl HIF 82
Options :

1. % gegra-are gl

2. % HJAT AR

3. % ORI

4. AR BAUTA

Question Number : 110 Question Id : 2752287582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3R BT RRUIGTAT BT H fhuemT JuH fona a1 52
Options :

1. % {9 YN BT HgHl

2. ¢ GETRIGAI-fARIEN Byt

3. # IR} AHdI B Bl

4. % §Tc] RMYUT B B!

Question Number : 110 Question Id : 2752287582 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

313 1 RUIGIT HeT-i H forares qui fawa T g2
Options :

1. % {9 HOY DI HgHl

2. ¢ TR dl-faRIE B!

3. % R HHAT &I HgHl




4. % TS YY1 BT B!

Question Number : 111 Question Id : 2752287583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

232 H SN SHTGITH P TR WRBRI A I ANTUH & & §IG DIF-Y ITHIDR Y31 e o A1 o & T T 47
Options :

1. % YRdg sigx

2. ¢ UHdg

3. ¥ dIdpW Hg

4, % YRUTA

Question Number : 111 Question Id : 2752287583 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

232 H ST SHIGITH P TR WRBRI Al  ARTUH & b §1G DIF-8 ITHIDR T3 e Y A1 o | 1 T 47

Options :

1. ® YRdg siex
2. ¢ UHdG

3. % dldpV Hg
4. % YU

Question Number : 112 Question Id : 2752287584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e TTATHR P B! AT GUUr TR fhed it for 2R3 FT Ta9y =< fhed &1 [ebR i gam
Options :

1. % offsy et

2. % QR ol

3. % OOl HIferl

4. ¢ fra aut




Question Number : 112 Question Id : 2752287584 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Y TR Bt B! AT U TR Ohed a1 Fordl 293 HT Ha9s el fihed & TRBR UT §3i1?
Options :

1. % afyor et

2. % QTR LM

3. % THAT BIierE

4.« Tdq qai

Question Number : 113 Question Id : 2752287585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

P TETPR = STUHT UYH ST o FRIGTSH 1 idan forem §il afeid uiiesT aia § UobTRid gafr
Options :

1. % gifary gd

2. % HAYR a™

3. ¢ SP° MG THl

4. % ST el

Question Number : 113 Question Id : 2752287585 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

{3 TTATHR A ST TYH SMAETES kg TARTATSH Bt SHiddr forar sl afdd g die § UHIRid g
Options :

1. % gifarg ad

2. % YR ™

3. ¢ P WA THt

4. % ST !



Question Number : 114 Question Id : 2752287586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gl T 71 g ATeh TS [ IR o1 ]2
Options :

1. % Hglgd gHi

2. ¢ Tl Hiferdl

3. % SIORIHR UG

4. % itR UIeH

Question Number : 114 Question Id : 2752287586 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
'CIE;TQEHI HA| %’ “dlcop HHS WWW%Q
Options :

1. * Hgradl aHf

2.  HHAT Difer

3. % SRR YHIG

4. % IR UGH

Question Number : 115 Question Id : 2752287587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fFafdiead TreeRl # Y fhd 13191 &1 T fa' e feram
Options :

1. ¥ HIgT Ub

2. % %] GHTHR

3. % P TMfd< I™

4. % ST <g ATR

Question Number : 115 Question Id : 2752287587 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

fafeiRad AreheRI 7 ¥ foa- 13T &1 U fo e fomam
Options :

1. ¢ Higd qHY

2. % W] gYTHR

3. % g3 Mid< a™

4. % STGIY dg HIYPR

Question Number : 116 Question Id : 2752287588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIgR & fog & FEUHR D 52
Options :

1. ¥ HYEGH

2. % famfor

3. ¥ dIcdHPp < Tt

4, % A< <A

Question Number : 116 Question Id : 2752287588 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRraey & g & FeudR S 82
Options :

]. % DG

2. % famfor

3. ¥ SIHP< T

4, % A< <A

Question Number : 117 Question Id : 2752287589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
TRIqUIeRTST fhd Iu=ame & waiferd 82
Options :

1. ® TN

2. % 36 fgdl B1318

3. % R

4. AN RER

Question Number : 117 Question Id : 2752287589 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TRIquTerTer g Su=ar 3 Tl 39
Options :

1. % T

2. % 36 fgdl ®1318

3. % R

4. ¥ AN RER

Question Number : 118 Question Id : 2752287590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TG fhee! a1 52

Options :

1. # fa=mfa

2. % JHRGWA

3. ¥ HIH

4. % SOl

Question Number : 118 Question Id : 2752287590 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



TEdT gt T 52
Options :

1. % faemufa

2. % JHRGMA

3. ¥ dddd

4. % ST

Question Number : 119 Question Id : 2752287591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e e STae 3 e sem 7 fd srexmg ot ugiar 1 82
Options :

1. ® QG

2. ¥ dla}

3. % gy

4, % HhNR

Question Number : 119 Question Id : 2752287591 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Ao Yere o 3 e o § oy sTexire @) w=igr B 82
Options :

1. % ERIE

2. ¥ dlsR

3. % g

4, % HhNR

Question Number : 120 Question Id : 2752287592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 7 9 HH-T7 Hiaar YU 3R St BT 781 82




Options :

1. ¢ BIefordl

2. % YYgd

3. ® IR Hal

4. % HGIGY b Ald

Question Number : 120 Question Id : 2752287592 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 & T S9-7 Hiaar U 3R S &1 78 g2

Options :
1. ¢ BIaeidl
2. % HYgd
3. ¥ IR Hal
4. % TG b Ad
Discipline2
Group Number : 7
Group Id : 275228276
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline2

Section Id : 275228403



Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228479
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 2752287593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
5 7§ HH-HT T 51 SoHTT H 52
Options :

1. ¥ I X

2. % JYRAST o

3. % 3o gt B1 318

4. % QAU

Question Number : 121 Question Id : 2752287593 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 7 Q D1-H T T T S H 52
Options :

1. ¢ Jh R

2. % FYRIAT Bl

3. % 3o gt b1 318

4. % 99 90

Question Number : 122 Question Id : 2752287594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

frafefaa & @ & Fjor Hida o1 &1 Hfa T8t U
Options :

1. % SOt

2.« URT

3. % HUR

4. % 9P

Question Number : 122 Question Id : 2752287594 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRad & I @ Frjo Hidd «rT &1 &fd 761 U
Options :

1. % Sl

2. ¢ HRI

3. % BaAR

4, ® Fqb

Question Number : 123 Question Id : 2752287595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
SIfAY TR} Ge DIgHH BT ARl HIF g2
Options :

1. ® fogrd

2. % T

3. v B

4. % AR

Question Number : 123 Question Id : 2752287595 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
STy TR} Ge DIgHH BT ARl HIF g2
Options :

1. ® fogrd

2. % T

3. v B

4. % AR

Question Number : 124 Question Id : 2752287596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"f&ag T AU THY T TH 1 $B difed ol gl " I8 TP vl ford HgThTed 3 52
Options :

1. % grdhd

Question Number : 124 Question Id : 2752287596 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T BT a THIU UT| TWH U1 & dlfied g1 Ial|” T8 Upid =0T ford HeTeTed 3 g2
Options :

1. % Hidbd

2. % BT

3. % Ja=i

4. ¢ U@ yag

Question Number : 125 Question Id : 2752287597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



9 & O TRERRUT W &1 UG DHIH-91 82
Options :

1. % gy

2. % RS

3. % Iggr

4. ¥ GIWR

Question Number : 125 Question Id : 2752287597 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T T AR T &1 UG HIH-91 62
Options :

1. % g¥

2. % YR

3. % dgg™

4. ¥ gIR

Question Number : 126 Question Id : 2752287598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v ISR, 7 o Piel | g Riga, g e < dfaaar ford sy o1 82
Options :

1. % i

2. % f9gRI 9aus

3. ¢ UsIldd

4. % qiold

Question Number : 126 Question Id : 2752287598 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

v ISR, 14 I Figl | R Riwa, g uefaf e didaar feg o= ot 82




Options :

1. % drar

2. % TR gavs
3. ¢ UsI1dd

4. % dIlh

Question Number : 127 Question Id : 2752287599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafeiead & @ ®F Fwr yfad RaT &1 3 T8 U1
Options :

1. ¢ HARGH™

2. % PN

3. % dqa™

4, % 39

Question Number : 127 Question Id : 2752287599 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

frafaRed § I &9 T yida e 1 &ia g1 U1
Options :

1. ¥ BRG™

2. % Yal™

3. % dqq™

4, % 39

Question Number : 128 Question Id : 2752287600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI fhet Ta T 52

Options :



1. % gfgadiy

2. % AT IR0 g
3. % HERATY ATaTd
4. & YaHYTG {0y

Question Number : 128 Question Id : 2752287600 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
BRI fhet Ta T 52

Options :

1. % giaqary

2. % TGl IR0 qHf

3. % HARAY SIAT

4. HaFYETG Ay

Question Number : 129 Question Id : 2752287601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
gftant & yade HH A2

Options :

1. % JHHS

2. % JMTISER

3. ¢ JEIHTER

4. % QR

Question Number : 129 Question Id : 2752287601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gfArt & Uade B A2

Options :
1. ® JHFS



2. ® JHTISE™E
3. ¢ FEAHTER
4. % Qe

Question Number : 130 Question Id : 2752287602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

STCH SN M A & &Y & DIH-91 HYT Tg! Tal 82

Options :

1. % I BT Y o H fordt 718

2. ¥ 4 BMEIG o UfaffY »fa 9

3. % 3P YigfAD Siiad B ugeil Ja-1 e A0S T b1 &l
4. % JTH A TIHR o Y SRED THHR Ui &

Question Number : 130 Question Id : 2752287602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AW T T & TaY P BH-T1 HU Tt 781 372

Options :

1. % I SHUBIR TTAN ot | ot 718

2.+ 4 BAMEIG & YA oid A

3. % 39 WIS Sfia- Bt Ugd! a1 A ATHS U Hg1 &t
4. % TP 3 TIHR & Y SIReD THHR HI &

Question Number : 131 Question Id : 2752287603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

-31fdl Gl T8 DI AR & fobd Bid b1 dfekial g2
Options :

1. ¢ UG

2. % HER



3. % ymy
4. % fogrdt

Question Number : 131 Question Id : 2752287603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

31 Gl T 1 AR B fob pfd o dfekaal 82
Options :

1. ¢ UG

2. % PR

3. % HyUI

4. % ford

Question Number : 132 Question Id : 2752287604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"I & IR A a9 &1 918 &1 IR 51" Ufed (68 T TaR 3t g2
Options :

1. % fhgydy

2. % SURAR UHTG

3. % 3T Y

4. ¥ HgTGd! gHi

Question Number : 132 Question Id : 2752287604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T & IR fay 1 918 H1 IR B! Ufad [ TaToR &1 82
Options :

1. % frgey

2. % TURAR YT

3. % 39 YEd




4.+ UgTgd! aaf

Question Number : 133 Question Id : 2752287605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 T T pH-u1 fawed s Aerdik vare fgadt & dey & Oel fawey 72
Options :

1. % rATardl Bidard feret

2. % {00 gary &1 =1 &I

3. ¢ WGo! Sd BT INSHR foear

4. % SADIYIRT Fifg feran

Question Number : 133 Question Id : 2752287605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 o 9 HH-1 [deed Smard AgTdR UTg fgdd! & dey o et fawed 52
Options :

1. % BATAId] SBidard feret

2. % U7 Yary &1 =1 Bl

3. ¥ Te! dial &l URHR foean

4. % JIIHIUTNT g ferr

Question Number : 134 Question Id : 2752287606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

5 & O D1 o1 Ty 9 g1 8l 52
Options :

1. % YRd fa1a

2. ¢ Gdidhed

3. % gl gl

4. % gqEelfel



Question Number : 134 Question Id : 2752287606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e B Q DI 7o vy Sy gR1 I 8 82
Options :

1. ® YRd fa1g

2. ¢ Gdidhed

3. % g4l AR

4. % quqjoifer

Question Number : 135 Question Id : 2752287607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Herarfl f6a Juer &) =1 8
Options :

1. % My

2. % YT decty

3. ¢ fAETd

4, % AP

Question Number : 135 Question Id : 2752287607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TgTaTofl fore e 3=
Options :

1. % S

2. % YT deelH

3. ¢ T

4, % 3PS



Question Number : 136 Question Id : 2752287608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 & 9 S - Riaae™ & faea $id g2
Options :

1. % TERME

2.  aHERd

3. % g garg

4. % HIA AP

Question Number : 136 Question Id : 2752287608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
9 ¥ ¥ HH- Rawe™ &t fawead $ia 82
Options :

1. % @R

2. ¢ FEHrEIRd

3. % g garg

4. % Hfd IATPY

Question Number : 137 Question Id : 2752287609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g TATHR & SIU BT ATH JHATAT UT?
Options :

1. ¢ JadiGN

2. % HURaN

3. % HRAGH

4. % fagmufa

Question Number : 137 Question Id : 2752287609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

g TATHR & SU BT AH JHAAT 1?2
Options :

1. ¢ gerdia™

2. % HaRa™

3. % HYde™

4. % fagmufa

Question Number : 138 Question Id : 2752287610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN 1 Ugal U foRgahy, GORT SR, df JRRT U 82
Options :

1. ¥ HidsTcieh HTHT

2. % YT HINT

3. % 3TYfTep HIwT

4. % S HNT

Question Number : 138 Question Id : 2752287610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TN BT Ugdl T foRgan, GERT s , df dRRT &0 82
Options :

1. ¢ Gichfdd HIST

2. % Y= HIoT

3. % YD YT

4. % S HYT

Question Number : 139 Question Id : 2752287611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

YR H SieH arell & YR TR HRIUT GRaR &1 wia=rd &1 82
Options :

1. ® 25%

2. % 1.30%

3. ¥ 73%

4. % 0.70%

Question Number : 139 Question Id : 2752287611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YRd § didH aTdl & YR TR YRIT URaR &1 Jia=id o1 82
Options :

1. * 25%

2. % 1.30%

3. ¥ 73%

4. % 0.70%

Question Number : 140 Question Id : 2752287612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
1 B URT & S BISTS J el TRl BT 3R A 6
Options :
1. % Upid
2. % {HNS
3. % ogfdd
4. % HY[

Question Number : 140 Question Id : 2752287612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



U Bt YRT R SN HTE J T TRAdT D1 3R it &

Options :
1. % Upid
2. % HHN
3. % Hfo
4, ¥ YN[

Discipline3
Group Number : 8
Group Id : 275228277
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20
Is this Group for Examiner? : No
Discipline3
Section Id : 275228404
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228480
Question Shuffling Allowed : Yes



Question Number : 141 Question Id : 2752287613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HTST TR 3R Bl

Options :

1. ® gHISAIQ

2. ¥ dI”

3. % faarg

4. % Al

Question Number : 141 Question Id : 2752287613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
TSy TR YR B

Options :

1. % HHNAIQ

2. ¥ dI]

3. % fgrg

4, % Al

Question Number : 142 Question Id : 2752287614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T TSI 1 8 WG 31T &1
Options :

1. ¥ 3fder

2. % dfgew

3. % g

4. % i



Question Number : 142 Question Id : 2752287614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Td YT &1 T8 Ue MR B |
Options :

1. v Sfagr

2. % P

3. % {HY

4. % i

Question Number : 143 Question Id : 2752287615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR S 41T Y et Tt fariare famam mam g9
Options :

1. %2

2. % 4

3.3

4. % 6

Question Number : 143 Question Id : 2752287615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

YR ST HTST I fora= STl favad fosan 7 g2
Options :

1. %2

2. % 4

3.3

4. % 6

Question Number : 144 Question Id : 2752287616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25
HRA P ICHTHT 3R ATHTHT B |

Options :

1. % 3frefl

2. ¢ o=t

3. % 3qell

4, % HcIcTH

Question Number : 144 Question Id : 2752287616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
HRA P IASCHTHT 3R ASTHTHT ] |

Options :

1. % 3{USit

2. ¢ fg=dl

3. % 3rqdt

4. % HAITH

Question Number : 145 Question Id : 2752287617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T G136 (1370) 39T i 3aefl HTST BT Ugeh Pid HI Al 52
Options :

1. ¢ GO U ARSI

2. % GREH

3. % GRIRT

4. % UiYH

Question Number : 145 Question Id : 2752287617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



Hedll GI3E (1370) $Hd1 1 Sradft HTNT B Ugelt Pid PI Il 82
Options :

1. ¢ IO I AR &S]

2. % R

3. % gRNERT

4. % UiY®

Question Number : 146 Question Id : 2752287618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=gl sifg=at @l & ford It &Y fageh & forat fo=<t wmeiepl & ford sl Ig wreg fodras 82
Options :

1. % g AR Tl

2. % IAYR] &R

3. % NS

4.« i ASIUTETER 1958

Question Number : 146 Question Id : 2752287618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

el sifg=at @R o ford It 81 fag=h & forat et sl & ford Sl U5 <eg; fovdias 82
Options :

1. % gAfd $HR sl

2. % IAYRY fdTdR

3. % AN

4. i ASUTETT 1958

Question Number : 147 Question Id : 2752287619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fareft ot UTST B Forg?) T &1 Haeldl 87



Options :
1. % et
2. ¢ eIy
3. % fquT
4, % 3JUHMI

Question Number : 147 Question Id : 2752287619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

foraft off yeT ) foram &1 &7 HeAdT 72
Options :

1. % el

2. ¢ fafg

3. % faumom

4. # 3UYY[

Question Number : 148 Question Id : 2752287620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el I IR ST, T enfe foftat &1 fawr gl
Options :
1. % afgoft
2. % gdf
3. ¢ Il
4. % gy

Question Number : 148 Question Id : 2752287620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el SEIRY SHTE, Tt 31 ot &1 fasm ga|

Options :




1. % gferoft
2. % Tdf

3. ¢ IRl
4. % gy

Question Number : 149 Question Id : 2752287621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

it § A da] AT SR dTs Attt @1 fae gam
Options :

1. ¢ Gféon

Question Number : 149 Question Id : 2752287621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
el I A der] HeamaH 3R w1 fafoal &1 fawr ga|
Options :
1. ¢ cigft
2. % Il
3. % gdf
4. % gy

Question Number : 150 Question Id : 2752287622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A B Fifau™ & 33T Sl | fopa-T HTaTd T 82
Options :

1.9 22



2. %50
3. % 8
4. % 10

Question Number : 150 Question Id : 2752287622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

A § ifau™ &1 33T STl | fha-t HTeTd T 82
Options :

1. ¥ 22

2. % 50

3. % 8

4. % 10

Question Number : 151 Question Id : 2752287623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USTTe YT 1 faf g2

Options :

1. % BRE!

2. ¥ &

3. % 3RGl

4. % I

Question Number : 151 Question Id : 2752287623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
USTel} HTwT 1 ff 2

Options :

1. ® BRI

2. ¥ !



3. % 3Gl
4, % il

Question Number : 152 Question Id : 2752287624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fafy sreRTere faft g srefes Im ot gorieres forfd g2
Options :

1. % Thiodl

2. % WHY

3. % ROy

4. TIANRY

Question Number : 152 Question Id : 2752287624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fif 31eRTee oI § Safe Ja forfty quiferes forfr g2
Options :

1. % wigdl

2. % WHY

3. % U

4. ¢ QARY

Question Number : 153 Question Id : 2752287625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Trse 1 I8! TfY arar faw ey ug=nfAwe

AP + ITAR
Options :

1. % AIPUAR




2. ¢ AHIYAR
3. # THITAR
4. % THUAR

Question Number : 153 Question Id : 2752287625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Trse 1 g8t TfY arar faw ey ug=nfAwe

b + IUAR
Options :

1. % dIPUaR
2. ¢ ADHITAR
3. % AHITAR
4. % TPYAR

Question Number : 154 Question Id : 2752287626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

=it fau 1T req 1 Wt WfY-fawdq arer fdehey yg=iw?
iRl

Options :

1.V R+
2. % gl +39
3.8 g+
4. % g+

Question Number : 154 Question Id : 2752287626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

e feu U Treg 1 Tet Af-fowse aren A e ug=n_u?




BT
Options :

1. ¥ R+ 3
2. % g+ 39
3. % g+
4. % g+

Question Number : 155 Question Id : 2752287627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 ol & @ 39 fashe &1 9u- Hifore o faU T8 Wreg &1 yafgarh wsg a1 71
g

Options :

1. % 3T

2. % QTgd

3. % Y

4. % Heft

Question Number : 155 Question Id : 2752287627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

9 ol & @ 39 fdsheu &1 9u HIfTE o foU 7Y Wreg &1 yafgarh wsg 781 71
¥

Options :

1.9 3

2. % Med

3. % Y

4. % HI




Question Number : 156 Question Id : 2752287628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fapedl & T 39 fAhey BT T HiforT ol 3T TN Weg &7 faaid Wet B
&ifore

Options :

1. % QD
2. % Ny
3. ¢ RMMYd
4, % AHYH

Question Number : 156 Question Id : 2752287628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 el & ¥ 39 Aehey &1 9u BT o foT U Wreg &7 faehH e B
IED

Options :

1. % M
2. % ANy
3. ¢ RMMYd
4, % 3{YH

Question Number : 157 Question Id : 2752287629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g fapedl & T 39 fAdhey BT T FIfoTT S 3T 7T Weg &7 Ul Wec B
SiTa T ST §3IT HIT

Options :
1. % 3{T=IPpT




2. % g
3. % 3oy

4. % 3qYT

Question Number : 157 Question Id : 2752287629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faopeal 7 T 39 [Aheu o1 Tg FIfTT Sl faT 77T Wee 7 Tt Teg 1
SitaeT T St §3HT YT

Options :
1. % 3R
2. % 3
3. % 3Uur
4, ¢ AHIR]

Question Number : 158 Question Id : 2752287630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famed! o 9 39 faded &1 99 Sifod off T U Xeg g & g 3 arar fawed |

BB HLH
Options :

1. ® HYs-Hdl
2. - Hedl
3. ®# Hgdl-3gR
4. % FA-Hadl

Question Number : 158 Question Id : 2752287630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 famedl & ¥ 39 fasmed &1 9a- HIfoTe off 3T 7Y e T o g 31 arer fawed g |




PCDh-hgh
Options :

1. % HUS-Hadl
2. ¢ I Hedl
3. # HSd-3eR
4. % BA-badl

Question Number : 159 Question Id : 2752287631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fadedl & I 39 fdded &1 909 o Sl IuA ¥ § X &1 fadhed 161 5|
Options :

1. ¢ yquitg

2. % M

3. % goilg

4. % 9I0Y

Question Number : 159 Question Id : 2752287631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 el § § 39 faded &1 79 o St SuA ¥ § Xeg &1 fadhed 81 5|
Options :

1. ¢ Hquiig

2. % =R

3. % goilg

R et

Question Number : 160 Question Id : 2752287632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



19 famedl 4 ¥ 39 fddwed o1 9g+ HIfTT off 3T TN U & Ta! 9gsilie 9HN &1 f[ddhed 5|
TR

Options :

1. % TRl BT ER

2. % TR Y YR

3. ¢ TR YRUT 6 ardl
4. % TR 3R YRS

Question Number : 160 Question Id : 2752287632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fasmedl # O 3 fadwed o1 Tg- ST off 3T TN THaue & Tg! agsife TR &1 fadhed 3|
IR

Options :

1. % Il BT R

2. % TRA Y YROT

3. ¢ TR YRUT hHRA dqTell
4. % TR 3R YRD

Discipline4
Group Number : 9
Group Id : 275228278
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 20

Is this Group for Examiner? : No



Discipline4

Section Id : 275228405
Section Number : 1

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 20

Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228481
Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 2752287633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faopeal 7 T 39 Aheu o1 T91 3 o) Uy O 94 Vst &1 Ug! fahed T81 8
Options :

1. % [y

2. qHY

3. % dfd

4. % UgTd

Question Number : 161 Question Id : 2752287633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fasbed! T ¥ 39 [aded &1 997 &< ol U U 9 Xeg $1 ol [ddhed ol o
Options :

1. % Ty

2.¥ HY



3. % gld
4, % UgIOd

Question Number : 162 Question Id : 2752287634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
yqufid Teg H HH-91 U 82

Options :

1. % g

2. ¢ 3N

3. % Ui

4. %7

Question Number : 162 Question Id : 2752287634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YU Teg & DIH-91 U &2

Options :

1. % 41

2. ¢ 3™

3. % Ui

4. %9

Question Number : 163 Question Id : 2752287635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faopeal 7 3 39 fAhed o1 g9 B o 34fer U I 91 et Yok g

Options :

1. ¢ A&

2. % 3Td

3. % ST




4, % 3gd

Question Number : 163 Question Id : 2752287635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 famedl o & 39 faded &1 997 &1 Sl 1Y ITT § o1 6] ek 7 |
Options :

1. ¢ A&

2. % JMId

3. % ST

4. % 3d

Question Number : 164 Question Id : 2752287636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

15 fadwedl & I 39 dded &1 T8+ SO S UTgarde I &1 gl [ddhed o 6|
Options :

1. #® YIdd

2. % qIHqdr

3. % s

4.

Question Number : 164 Question Id : 2752287636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famed! o 9§ 39 fdded &1 99 il off HTadTad T &1 Gal [dhed o) 6 |
Options :

1. #® YIdd

2. % qIqdl

3. % {yars

4. ¢ &




Question Number : 165 Question Id : 2752287637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fadwed &1 9g SITTT off He9H YoV dad Ja-1H &1 el [dhed g |
Options :

1. ® dg

2. % W

3. ¥ 3

4. % IGBI

Question Number : 165 Question Id : 2752287637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

1 oo & I 39 faded &1 90+ S off H&H J3Y dTad qa-19 &1 9al [ddhed g |
Options :

1. % dg

2. % W

3. 3[4

4. % I

Question Number : 166 Question Id : 2752287638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faswedl & 4 39 fdwed &1 99+ HIfSTE o 3T 7T a1 & SR fa=Ior & U &1 Ig! fadhed gl |
T AT 91 & fog (VST ) 9 =nfeul

Options :

1. % Qro-THE faRme
2. % T[UMATId ARVl

3. % FRAEES A=y



4. + GRAERS A=y

Question Number : 166 Question Id : 2752287638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g faswedl & I 39 fdwed &1 99+ HIfSTE off 3T 7T a1 & SR fa=or & U &1 Tg! fadbed gl |
EERCIEIEEIE AN USRI E )Y

Options :

1. % g1 fawor
2. % TUATe fdRIYoT

3. % AT A=
4. ¢ GRHTUEIS faRIS0T

Question Number : 167 Question Id : 2752287639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawmedl § ¥ 39 fawed &1 98- SITY off SHarad U1 &1 Ug! [ddbed g
Options :

1. ¢ QI

2. % pd

3. % 1

4. % URGR

Question Number : 167 Question Id : 2752287639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

g foepeal 7 T 39 [Apeu o1 Tu PIfT Sl gouares U3 &1 9g! f[dpu g

Options :
1. ¢ ald
2. % pd




3. % A1
4. % AR

Question Number : 168 Question Id : 2752287640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAaferRad faswedl O faurarad ared &1 9el fabed U]
Options :

1. % T 3@ & $o it 78l 9|

2. % JH BT HHH IR 5

3. ¢ S0 U <X g

4. % 13 H1H B foran 2

Question Number : 168 Question Id : 2752287640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fAafaRad fdwed d faumards 919 &1 9el fadwed gl
Options :

1. % T9 3§ d% oo i 78 @

2. % YA HT A IR B

3. ¢ SO T <2 g |

4. % o1 3G H1H B forarn 2

Question Number : 169 Question Id : 2752287641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

7 ol T ¥ 3 fdsed &1 9g- Hifore it faU U a1 & SMAR a1 We &1 ol [ddbed 8l
iU g PedT © fob AR 13|

Options :
1. % I AR




2. Ty I
3. % JYId aI
4. % bdadrasd A

Question Number : 169 Question Id : 2752287641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & T 39 fawed &1 99 HIfE off iU T8 a9 & SR a/dd Ve &1 9g! f[ddhed 81|
T G Fodl & o TR OR 3f1efl|

Options :

1. % IR I

2. Ty a1y

3. % JYad ar

4. % JhddED dI

Question Number : 170 Question Id : 2752287642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

19 famedl 4 ¥ 39 fdwed o1 9g- HIfTY off 3T TN 9716 & AR a1 Ue &1 Tg f[ddhed g
IIH 33T At 3TN ITHT Ta T SR-THR BidT AT

Options :

1. % fANyarES aI
2. % oy ar

3. ® XA dIH

4. ¢ GYId a1

Question Number : 170 Question Id : 2752287642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

79 fawedl & T 39 faswed &1 99 SIfSE off iU T8 a9 & SR a/dd Ve &1 9g! f[ddhed 81|




ITH 3318 ot ST IUPBT Id ST MMe-TehR Il AT
Options :

1. % fANear® a1

2. % oy ar

3. ® XA dIH™

4. ¢ Ggad dI

Question Number : 171 Question Id : 2752287643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

R o e are & el AT Ve &Y ugE-|
Tg fAf¥ya 781 & fos 98 e smumm

Options :

1. % fayrFaraed a1
2. % WA AT

3. % ggod die

4. ¢ Oy I

Question Number : 171 Question Id : 2752287643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

- fau T4 o & T g Ve &1 ugan-u|
g fafera 7t & b a8 o

Options :

1. % fauHaras ar
2. % WA AT

3. % ggod die

4. fhy ary



Question Number : 172 Question Id : 2752287644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITAT & 37 H Iee — B B F HUTd IUHY BT SUHM & A 7 HehR Idc B SUHM B 81 IUNY Bl STl § I8] HIH-TT 3TDR
gidl 87

Options :

1. % TP PR

2. ¢ Uy 3[ADHR

3. % HHJIHRUN AADPR

4. % Yifdq™ APR

Question Number : 172 Question Id : 2752287644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

ITHT & 31 H Fee — B A I UTd IURT I IUHM & JHM 7 HehR Idc B IUHM B ol SURY Hl STl § I8T HI--TT 3TDR
BT g?

Options :

1. % RSP MADR

2. ¢ YA 3[ABR

3. % AHAIHU AADR

4. % YifdqH APR

Question Number : 173 Question Id : 2752287645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

%ﬂs‘i’q areared BT B3 3R T denY uTd W8T s 1 7 dl A UG 31 1 B3 3R 7 §) sl faw s, a8l Hi=-T) Weg W glat
9

Options :

1. ¢ ST Veg Wik

2. % TISIdc &N

3. % JHfHYT Yeg fd




4. % TG AU

Question Number : 173 Question Id : 2752287645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

gs‘i’qqlwlzfobmﬁﬁ??ﬁﬂﬁ&ﬂﬁﬁﬁwwqﬁmmaﬁmﬁaﬁvqﬁmﬁﬁﬁw&rﬁ,aﬁﬁq-@wﬁﬁ
0

Options :

. ¢ oI g ok

2. % JISHad! A&

3. % 3{YYT Ieq Yl

4. % I=gT &N

Question Number : 174 Question Id : 2752287646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fawg grY fordl et IR a8 - o T Fwfy & 980 81d § 9 31 $ed 89

Options :

1. ® Yt HG

2. % 3Tcie faurg
3. % 3HJHI9

4. ¢ 3eig- fauma

Question Number : 174 Question Id : 2752287646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fawg gRT {53 fopamy 3R a8 WM o 7 Ay & 98 8id § S ol $ad 82
Options :

1. % QT 419

2. % 3fTdieH fauma

3. % 3{qUrd



4. ¥ 3e1g- fauma

Question Number : 175 Question Id : 2752287647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
«3fed Iad IR 9 UR, IgaR &1ed U

TR TA-TRIS e, BN Al W71 1 39 Ufad & SIH-37 PR 82
Options :

1. % Jffawdifadd SiddpR

2. % QUG S[dHR

3. ¢ 0D AADR

4. % YifduH fABR

Question Number : 175 Question Id : 2752287647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
«3fad Iau IR i IR, YR &1 G|

T -1 9, RN A Y| 1 39 Ufad § HIH-91 S{AHR 87
Options :

1. % 3ffa=aifad ddR

2. % fqYTGHT 3[AHR

3. ¢ TUD ADR

4. % YifddE PR

Question Number : 176 Question Id : 2752287648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"HEGD ol Tal W6 X | Hf TGATY HUTH HUT o Td FHTF TR 11 » Ufed & DH1H-91 7 82
Options :

1. # ©IIY




Question Number : 176 Question Id : 2752287648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HEGPH Bl Ta! X1 e | it IGATY HUTA HUT d Gd UG T3 11 » Ufdd H HH-91 30 82

Options :

Question Number : 177 Question Id : 2752287649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
AR-AT 1R g3 g,

-1 a1 8 o1 1 1 39 dfdd & S19-37 3deR 82
Options :

1. ¢ JUHT 3APR

2. ® I ADBR

3. % ¥UD AADR

4. % fQRIUTYY 3APR

Question Number : 177 Question Id : 2752287649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
YR THR g g,
AR a1 g et 7 | 39 tfad § &H-91 SR 82

Options :



1. ¢ 30T 3APR
2. % I AABR
3. % TUPH 3ADR
4. % fQRIYTHTY S[AHR

Question Number : 178 Question Id : 2752287650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"JRT & T TR 9 YAV, IS fid Ugg e get R S|

YT 4R 3Ty, AT H ART 7, $R-4R e 9o 3 IR il ufdd § oH-91 349 82
Options :

1. % QA

2. % IR

3. ¥ IRy

4. % 3qHd ™

Question Number : 178 Question Id : 2752287650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"IRT A e TR 9 YAV, IS fid Ugg e ger W S|

HeT WR 3MTam, IFT H ART M, -6 Rawe go & 9R i dfdd § -9 3 82
Options :

1. % I

2. % 9RIF

3. ¢ BIRIY

4, % 3{qyd ™

Question Number : 179 Question Id : 2752287651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

"B FHST "TETaR T 31 § 2



Options :

1. % ST B
2. % JOY T
3. % SHTHARA
4. ¥ GUS

Question Number : 179 Question Id : 2752287651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
"HTH IS "HETaR T 31 g 2
Options :

1. % §1d B

2. % QUY AT

3. % SITHARA

4. TUS &l

Question Number : 180 Question Id : 2752287652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

X fa1 311, T ggrak &1 o1 vrcltd gia 82
Options :

1. % QX pxAT

2.« T H Gid SHHA]

3. % I 3T

4. % SXY DY

Question Number : 180 Question Id : 2752287652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
R & ST, fopd ggrar &1 o1 vrelia &Il 82

Options :



1. % U dxAl
2.« T H Gid SHHA]

3. % I 3T
4. % XY DU
Discipline5
Group Number : 10
Group Id : 275228279
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time : 0
Group Marks : 10
Is this Group for Examiner? : No
Discipline5
Section Id : 275228406
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 2
Number of Questions to be attempted : 2
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Sub-Section Number : 1
Sub-Section Id : 275228482
Question Shuffling Allowed : Yes
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Question Numbers : (181 to 185)
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Sub questions

Question Number : 181 Question Id : 2752287654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

T SR YT Al fha 31 wneft 8 8

Options :

Question Number : 182 Question Id : 2752287655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TwSE & SFUR Al & Siddel I T MY 82
Options :

1. % YA & g Fgdt Aot

2. % qfeal 9 Igd R DI YA

3. ¢ gl Afeal & A & YfH

4. % ATl BT qHH




Question Number : 183 Question Id : 2752287656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

THR X H 98 arelt Aiedl & 1S Hid o1 52
Options :

1. % TR SR THAT Y HI Al

2. % TCl WSllaA

3. % URd Yy

4. fgurerd & ed fem A

Question Number : 184 Question Id : 2752287657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

f&u T fawmedt & @ HH-1 3@ &1 Iarif 2 61 82
Options :

1. ¢ Y

2. % fogHMd

3. % Sfigddr

4. % gEil

Question Number : 185 Question Id : 2752287658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fu T 3T o1 wdle e forfau|
Options :

1. % T H ARG

2. % e & HIgHT

3. ¢ BURI UfaF At
4, % Il &1 3H
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Question Numbers : (181 to 185)
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Sub questions

Question Number : 181 Question Id : 2752287654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
T SR AT At fha ot weft 36 82
Options :

1. % gdoll I

2. % YR & SIS gad B

3. % AU Bt

4. ¥ YRA & UARTRISG d9a=a &t

Question Number : 182 Question Id : 2752287655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3G & AR Al 1 Siddel I T 3R 82
Options :

1. % YA & g Fgdr 7ot

2. % 9feal 9 9gd R DI YA

3. ¢ & Al & Te B Yl

4. % ATl BT B

Question Number : 183 Question Id : 2752287656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option



Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0.25

IR X H 98- arelt Aft & onfe Aid e g2
Options :

1. % T 3R gEAT A &1 Afeat

2. % dcl IR Siad

3. % URd Yy

4. ¢ T3 BT 3d fgw i

Question Number : 184 Question Id : 2752287657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fym et & q HH-A1 1T o1 A Tsg T8 82
Options :

1. ¢ gaY

2. % fqemmar

3. % Gitdddr

4. % gl

Question Number : 185 Question Id : 2752287658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
f3T e ey @1 gdle v fafau)
Options :

1. %GR & ANRSD

2. % QM DI HIaT

3. ¢ BHRY ufas Afear

4. % AT BT A
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Question Id : 2752287659 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (186 to 190)
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Sub questions

Question Number : 186 Question Id : 2752287660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hq 1! AURI IR IS SA BT SHTEH PR 361 87
Options :

1. % Hguid AT B

2. ¥ TGl Bl

3. % §f$al d 6d AN Bl

4. % TS H @& oA bl

Question Number : 187 Question Id : 2752287661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



3Te & ATUR fayaeh I f5d Fer g2
Options :

1. ¢ fofer I 31

2. % fagifedi &l

3. % S ANl Bl

4, % TEUAT W &9 ATl &l

Question Number : 188 Question Id : 2752287662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3TE P IR WEIa! & i I 54 o1 U g3
Options :

1. % P&S

2. % At

3. ¢ 3Tl

4. % ST g3 Sita

Question Number : 189 Question Id : 2752287663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

feu e fadedt & ¥ -9 T H7 gAETR e E 72
Options :

1. % AR

2. % 3{dUlq

3. % bl

4, % 3W

Question Number : 190 Question Id : 2752287664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
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Options :
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Question Id : 2752287659 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension Questions
: No
Question Numbers : (186 to 190)
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Sub questions

Question Number : 186 Question Id : 2752287660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Hq fHTp! HURI W EUS S BT TG B 8T 82
Options :

1. % yguid I &1

2. ¢ TGiGl bl




5. % AT
4. % SRR R )

Question Number : 187 Question Id : 2752287661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tw5E o SR e A s FeT 62
Options :

1. ¢ fofes e 1

2. % fagifgal o1

3. % Sl Wl Bl

4. % HYY Y § AN Pl

Question Number : 188 Question Id : 2752287662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
3Tw5e & IR XaIal & Sfcra I g6 I UTed g3H1?
Options :

1. % BidT

2. % At

3. ¥ ATl

4. % ST g3 Sfla

Question Number : 189 Question Id : 2752287663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

fau U fyemed § § SH-91 g &1 IaH Teg 7t 22
Options :

1. % 3faRe

2. % 3{dYlq

3. % bl

4, % AP




Question Number : 190 Question Id : 2752287664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

HTHT BT I e gl
Options :
1. % GHRT A
R MEICINCE]
3. % deq &l il
4. % fayec A
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Enable Mark as Answered Mark for Review and Clear Response : Yes

Sub-Section Number : 1
Sub-Section Id : 275228484
Question Shuffling Allowed : Yes

Question Number : 191 Question Id : 2752287665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

For teacher teaching a class with large strength, which of the techniques is best?
Options :

1. % Debate, discussion, practicals

2. % Group work with lecture

3. ¥ Lecture and class notes

4. % Self study and asking questions

Question Number : 191 Question Id : 2752287665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

TSI TS & 1Y FH&fT DI U aTd e & o, HiF Tt dbieh Jad 331 82
Options :

1. % qre-fqare, ==, urifiie

2. % FRAM & 1Y JHG BT

3. ¢ IARAM 3R HefT Aeq

4. % I-37eT 3R UY YBT

Question Number : 192 Question Id : 2752287666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Text book can be used as
Options :

1. ¥ study of a subject
2. # reading



3. ¥ entertainment

4. ® writing

Question Number : 192 Question Id : 2752287666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

UT6d G BT SUaNT & =0 ¥ o o gopar gl
Options :

1. ¢ ot fawa o1 sreza

2. % 3

3. % HARGH

4. % &

Question Number : 193 Question Id : 2752287667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
Without communication people

Options :

1. ® can interact with each other

2. ® Can understand with each other

3. ¥ cannot interact with each other

4. ® cannot appreciate to each other

Question Number : 193 Question Id : 2752287667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

IR & fa 1 AnT |

Options :

1. % TP g% o AT TR (o IR Thd §
2. % TP g & 1Y JHY Ihd &

3. ¢ Uh G & 1Y URTUNR® fohar 781 R Tobvdl




4. % U g DI TG ol PR Tbd

Question Number : 194 Question Id : 2752287668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

The process of leaving a language with the help of the environment and with fewer efforts is called-
Options :

1. ¥ Language acquisition

2. # Language device

3. % Passive language learning

4. # Language content

Question Number : 194 Question Id : 2752287668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

AR Bt TERIAT T 3R HHAR TG} T UV SIS B! UfehdT & &gl ol &
Options :

1. ¢ YT9T 375

2. % HYE[ 3YhUT

3. % fAfsha wTeT SrferTy

4. % 9T faogayg

Question Number : 195 Question Id : 2752287669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Which pairs help participants to develop interpersonal skills, confidence, communication, and assertiveness?
Options :

1. # Male

2. # Female

3. ¥ Mix gender

4. % Transgender



Question Number : 195 Question Id : 2752287669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

B ST Ui o) RN IR, STy, TR 3R FERdl [dbRid &9 § 7eE HRd 8?2
Options :

1. % 3N

2. % Higel

3. « farfga fof

4. % THSSR

~

Question Number : 196 Question Id : 2752287670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

At which stage the model of activity curriculum could not move above?
Options :

1. # secondary stage

2. # primary stage

3. ¥ clementary stage

4. # intermediate stage

Question Number : 196 Question Id : 2752287670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

for =R0r R ffafer urswsh e &1 Afed Y I IR 61 o GhT
Options :

1. % HEAD TR

2. % Y ROl

3. ¢ YRIHD TRUI

4. % HLIAdl TR0l




Question Number : 197 Question Id : 2752287671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
What is not an aspect of inclusive education?
Options :

1. # essential service

2. % support service

3. % peripheral service

4. % Social service

Question Number : 197 Question Id : 2752287671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
PIF TETaRh e &1 uge e 82
Options :

1. % STIRYD Hal

2. % IR (FUIC) Jal

3. % ORI Far

4. < FHS T

Question Number : 198 Question Id : 2752287672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

When a variety of materials is used in school, what is it called?
Options :

1. % material omission

2. % material substitution

3. ¥ material expansion

4. ¥ material adaptation

Question Number : 198 Question Id : 2752287672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0.25

ofd faere & fafts TR &t ATt o1 SUART fodn ST &, A S o1 68T STl 62
Options :

1. % gyl Iob

2. % JrAd gfqeIg

3. % i fawdR

4. At 3P

Question Number : 199 Question Id : 2752287673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

Growth term represent purely which sense of a person?
Options :

1. % Common

2. ¥ Physical

3. # Political

4. # Logical

Question Number : 199 Question Id : 2752287673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25

3fS s fagls U 9 Afd & by wra &1 ufaffia sar g2
Options :

1. % {qMHY

2. ¢ TRING

3. # IeHIdD

4. % qlGD

Question Number : 200 Question Id : 2752287674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25



What are the types of drama?

Options :

1. # Story drama, Music Drama

2. % Linear Drama method, Process oriented Drama
3. # Language drama, Narrated Drama

4. ® Dance through Drama, Character in Drama

Question Number : 200 Question Id : 2752287674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Option
Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0.25
e & foh- THR BId 62

Options :

1. % P ATed, Wiid Ach

2. ¢ I e fafd, uforar 33 e
3. % Y] ATCp, gioid ATed

4. % 9cdh & 1egd ¥ I, Alcd § aRkA




